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PHYSICS

BOOKS - MODERN PUBLICATION

ELECTRICITY

1. The filament of an electric bulb draws a
current of 0.4 ampere.Calculate the amount of

charge flowing through the filament if the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4ieyw0J5n4FJ

bulb glows for 2 hours.Also calculate the

number of electrons passed.

° Watch Video Solution

2. Calculate the work done in moving a charge

of 2C through a potential differerence of 5 v

o Watch Video Solution

3. A polythene place is rubbed with wool. It is

found to acquire a negative charge of


https://dl.doubtnut.com/l/_4ieyw0J5n4FJ
https://dl.doubtnut.com/l/_OQzameqN6CUz
https://dl.doubtnut.com/l/_I4ZhxSfivEAL

3.2 x 107 CEstimate the number of

electrons transferred to the piece.

° Watch Video Solution

4. How many electrons pass through a wire in
1 minute if the current passing through the

wire is 200 Ma?

° Watch Video Solution



https://dl.doubtnut.com/l/_I4ZhxSfivEAL
https://dl.doubtnut.com/l/_2IGHSfYLUMAa

5.2.5 m) of work is done in moving a charge of
102 from one point to anotherWhat is the

potential difference between the two points ?

o Watch Video Solution

6. 10 electrons, each having a charge of
1.6 x 10~ *C, pass from a point A towards
another point B in 0.1 s. What is the current in

ampere ? What is its direction ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZJKTsYb9JryP
https://dl.doubtnut.com/l/_pw7OJ3KR9TWi

7.How many free electrons flowing pre second

will constiture 1A current?

o Watch Video Solution

8. Find the resistance of a nichrome wire of
length 1m and area of cross-section 2mm?The

resistivity of nichrome of nichrome is

100 x 10" °Ohm — m.

° Watch Video Solution



https://dl.doubtnut.com/l/_pw7OJ3KR9TWi
https://dl.doubtnut.com/l/_APMlIcv7ePoH
https://dl.doubtnut.com/l/_e4pXJm7UTsRb

9. Find the resistance of a nichrome wire of

length 2m and area of cross-section 2mm?

Prichrome = 100 x 10 "°Ohm — m.

o Watch Video Solution

10. Find the resistance of a nichrome wire of

length 1m and area of cross-section 4mm?.

p(nichrome) = 100xx10*(-6)Ohm-m".

o Watch Video Solution



https://dl.doubtnut.com/l/_HRs1GZEq7TxX
https://dl.doubtnut.com/l/_8sAB6bdLtfCw
https://dl.doubtnut.com/l/_mSeF0OjsGlLW

11. Find the resistance of a copper wire of
length 1m and area of cross-section 2mm?The

specific resistance of copper=

1.7 x 10" 30hm — m.

° Watch Video Solution

12. Find the resistance of an ebonite rod of
length 1m and area of cross section 2mm?The

resistance of ebonite =10"°Ohm — m.

° Watch Video Solution



https://dl.doubtnut.com/l/_mSeF0OjsGlLW
https://dl.doubtnut.com/l/_hnKKkMJ49caL

13. You have a resistance of 50hm. You cut it
into four equal parts .What is the resistance of

each part?

o Watch Video Solution

14. The length of a wire is doubled by pulling

it.Find the new resistance.

° Watch Video Solution



https://dl.doubtnut.com/l/_XBsS0DBC6YUf
https://dl.doubtnut.com/l/_GkbzUukkWclm

15. What is the current flowing in the resistor

shown in the given figure?

= Eiy
*Ill.l-I Ill1-lhl'

o Watch Video Solution



https://dl.doubtnut.com/l/_REdymRcgLCpX

16. What is the reading in ammeter in the

given figure?

BEEN =

Bi) ol

5%

o Watch Video Solution

17. What is the reading in ammeter in the

given figure?


https://dl.doubtnut.com/l/_07kJKywhZssE
https://dl.doubtnut.com/l/_mD3aBJdlCC7f
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° Watch Video Solution

18. Find the current through Rjand R».Also,

find the total current drawn from the battery.

iz ™ OF Kl



https://dl.doubtnut.com/l/_mD3aBJdlCC7f
https://dl.doubtnut.com/l/_yEJgznwirbZo

I D Watch Video Solution

19.Find I1,I> and | in the given is 5V.

|

o Watch Video Solution



https://dl.doubtnut.com/l/_yEJgznwirbZo
https://dl.doubtnut.com/l/_CBUHYtH7Gy3J

20.Find Iy, I;1 and the reading of voltmeter in

the given figure.

o Watch Video Solution

21. Find the current drawn by the battery and

the potential difference between A and B.


https://dl.doubtnut.com/l/_xpDUeN0I9t48
https://dl.doubtnut.com/l/_ts2c2dr5is7f

o Watch Video Solution

22. Find the total current drawn from the

battery.


https://dl.doubtnut.com/l/_ts2c2dr5is7f
https://dl.doubtnut.com/l/_r9XU1MNXAGoh

o Watch Video Solution



https://dl.doubtnut.com/l/_r9XU1MNXAGoh

23. Find potential difference between B and C.

R=50 g R=104

IT"f A=100 R=50 1E
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|
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g
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° Watch Video Solution

24. A cell of emf 2 V and internal resistance

0.10hmis connected to a 200hmresistor


https://dl.doubtnut.com/l/_SdkSD77tXy9r
https://dl.doubtnut.com/l/_SyuxQCBfVMKb

What is the current in the circuit ?

R = 200

A r=0.90

° Watch Video Solution

25. For the circuit shown in the diagram:

Calculate


https://dl.doubtnut.com/l/_SyuxQCBfVMKb
https://dl.doubtnut.com/l/_2NF6nvHxoEat

the value of current through each resistor.

o Watch Video Solution

26. For the circuit shown in the diagram:

Calculate the


https://dl.doubtnut.com/l/_2NF6nvHxoEat
https://dl.doubtnut.com/l/_yEWRWRxxr17q

total current in the circuit.

o Watch Video Solution

27. For the circuit shown in the diagram:

Calculate the total effective resitance of the


https://dl.doubtnut.com/l/_yEWRWRxxr17q
https://dl.doubtnut.com/l/_Tch4Ud0vliAz

circuit.

o Watch Video Solution

28. The resistance of an electric heater is
250hm. Its ends are connected to the poles of
a 90V dry battery. How much current will flow

in the heater wire?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_Tch4Ud0vliAz
https://dl.doubtnut.com/l/_Hfl9J9BnyJuy

29. In the given circuit, find the current drawn

from the battery.

0 Watch Video Solution

30. What is the reading of ammeter in the

given circuit when the key K is on.’


https://dl.doubtnut.com/l/_Hfl9J9BnyJuy
https://dl.doubtnut.com/l/_iHLBBfKRhmP0
https://dl.doubtnut.com/l/_PNdhf2fmmJDl
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o Watch Video Solution

31. What is the reading of ammeter in the

given circuit when the key K is of off..


https://dl.doubtnut.com/l/_PNdhf2fmmJDl
https://dl.doubtnut.com/l/_fpzhemUM66uP
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o Watch Video Solution

32. Find the equivalent resistance between

point A and B in the circuit.

K 10 {4
e T W
- i %
A=100 % w fn
e


https://dl.doubtnut.com/l/_fpzhemUM66uP
https://dl.doubtnut.com/l/_c7VdETONqxmw

° Watch Video Solution

33. A current of 1 A is passed through a
resistor of resistance 200hm for 1 minute.

Find the heat produced in the resistor.

° Watch Video Solution

34. A resistor of resistance 20o0hm s
connected across a potential difference of 20

V for one minute. Calculate the heat produced


https://dl.doubtnut.com/l/_c7VdETONqxmw
https://dl.doubtnut.com/l/_aVC4vRSKZ6o0
https://dl.doubtnut.com/l/_ROnJ73cnHMSK

in the resistor.

H=2001

vV = 20 Volt

o Watch Video Solution

35. Calculate the resistance of a bulb rated 100
W, 220V. What is the current flowing in the
bulb when connected across a potential

difference of 220 V?

I o Watch Video Solution


https://dl.doubtnut.com/l/_ROnJ73cnHMSK
https://dl.doubtnut.com/l/_djeqFyKY7eYl

36. A current of 0.45 A flowing in a resistor
dissipate 100 J of energy in one second.

Calculate the resistance of resistor.

° Watch Video Solution

37. An electrical appliance of 1000 W is used 6
hours/day. What is the electricity bill of the
appliance in one day it the rate charged by

electricity board is Rs.4/unit?



https://dl.doubtnut.com/l/_djeqFyKY7eYl
https://dl.doubtnut.com/l/_2FSnJ0c5L1oK
https://dl.doubtnut.com/l/_7l5nCx8OvvPN

I o Watch Video Solution

38. Two lamps, one rated 60 W at 220V and the
other 40 W at 220 V are connected in parallel
to the electric supply at 220V.

Calculate the total energy consumed by the

two lamps together when they operate for


https://dl.doubtnut.com/l/_7l5nCx8OvvPN
https://dl.doubtnut.com/l/_KM0awq9ZyPPq

one hour.
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40 220 W
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|
T - '
F20 V Supply

° Watch Video Solution

39. Two lamps, one rated 60 W at 220V and the
other 40 W at 220 V are connected in parallel

to the electric supply at 220V.


https://dl.doubtnut.com/l/_KM0awq9ZyPPq
https://dl.doubtnut.com/l/_UwZIN4NesuRN

Calculate the current drawn from the electric

supply.
[[L}e
WY, S0 Y
5.7 N
J0W Z20 W
Bl )
|
. - .
F20 V Supply

o Watch Video Solution

40. Two lamps, one rated 60 W at 220V and

the other 40 W at 220 V are connected in


https://dl.doubtnut.com/l/_UwZIN4NesuRN
https://dl.doubtnut.com/l/_YaN6DeLQO0NK

parallel to the electric supply at 220V.

Calculate the total energy consumed by the

two lamps together when they operate for

one hour.

[Lhe

20V Supply

o Watch Video Solution



https://dl.doubtnut.com/l/_YaN6DeLQO0NK

41. An electric fuse of rating 3A is connected in
a circuit in which electric iron of powr 1 kW is
connected which operates at 220V. What

would happen?

° Watch Video Solution

42.What is a electric circuit?

° Watch Video Solution



https://dl.doubtnut.com/l/_xfwVR2SXX9OO
https://dl.doubtnut.com/l/_x2dmqu47Xqzi

43. Sl unit of current is:

o Watch Video Solution

44, Calculate the number of electrons that

constitute 1 coulomb of charge.

o Watch Video Solution

45. Name a device that help to maintain a

potential difference across a conductor?



https://dl.doubtnut.com/l/_VhWk2XM5yUqH
https://dl.doubtnut.com/l/_az36ttvQO1QZ
https://dl.doubtnut.com/l/_ze73c6Tu3E3h

o Watch Video Solution

46. What is meant by saying that the potential

difference between two points is 1V?

o Watch Video Solution

47. How much energy is given to each coulomb

of charge passing through a 6 V battery?

o Watch Video Solution



https://dl.doubtnut.com/l/_ze73c6Tu3E3h
https://dl.doubtnut.com/l/_am0EngmqxJ3f
https://dl.doubtnut.com/l/_QVpkHVJcUNJC
https://dl.doubtnut.com/l/_ChHNkpyKTgSP

48. On what factors does resistance depends?

Explain.

° Watch Video Solution

49. Will the current flow more easily through a
thick wire or a thin wire of the same material

when connected to the same source ? why?

° Watch Video Solution



https://dl.doubtnut.com/l/_ChHNkpyKTgSP
https://dl.doubtnut.com/l/_g5DiQzEqOv0w

50. Let the resistance of an electrical
component remains constant while the
potential difference across the two ends of
the component decreases to half of its former
value. What change will occur in the current

through it?

o Watch Video Solution

51. Why are coils of electric toasters and

electric irons made of an alloy rather than that


https://dl.doubtnut.com/l/_KuEb98sgoTs4
https://dl.doubtnut.com/l/_S7VBga8i7Jl3

of a pure metal?

o Watch Video Solution

52. Which among iron and mercury is a better

conductor?

° Watch Video Solution

53. Which material is best conductor?

° Watch Video Solution



https://dl.doubtnut.com/l/_S7VBga8i7Jl3
https://dl.doubtnut.com/l/_A12XOaWWLeHB
https://dl.doubtnut.com/l/_XnjYGhIo0Exg

54. Draw schematic diagram of a circuit
consisting of a battery of three cells of 2 V
each a 5() resistor: am 8() resistor and 122

resistor and a plug key, all connected in series?

o Watch Video Solution

55. What is the reading in ammeter in the

given figure?

[ L

oid =

Rt
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https://dl.doubtnut.com/l/_LFmFofWS64xW
https://dl.doubtnut.com/l/_u1p6S441S2me

° Watch Video Solution

56. Judge the equivalent resitance when the

following are connected in parallel

lohm and 10%0hm

° Watch Video Solution

57. Judge the equivalent resistance when the
following are connected in parallel: 12 and

10°0

| e |


https://dl.doubtnut.com/l/_u1p6S441S2me
https://dl.doubtnut.com/l/_EZxUOw6frjzC
https://dl.doubtnut.com/l/_UMr3p1zm1sFd

& watch Video Solution I

58. An electric lamb of 100 () a toaster of
resistance 50 €2 and a water filter of resistance
500 €2 are connected in parallal to a 220 V
sourceWhat is the resistance of the electric
iron connected to the same cource that takes
as much current as all the three application

and what is the current through it?

° Watch Video Solution



https://dl.doubtnut.com/l/_UMr3p1zm1sFd
https://dl.doubtnut.com/l/_9Hr21EYnvEFj

59. What are the advantages of connecting
electric devices in parallel with the battery

instead of connecting the in series?

o Watch Video Solution

60. How can three resistors of resistance 2 €2 3
2 and 6 ) be connected to give a total

resistance of (a) 4 2 (b) 1 Q2 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_4sCshqOMlk0V
https://dl.doubtnut.com/l/_09QHKbgu15Bq
https://dl.doubtnut.com/l/_u0x5LEjtQdxm

61. How can three resistors of resistance 2 {2 3
2 and 6 ) be connected to give a total

resistance of (a) 4 2 (b) 1 Q2 ?

o Watch Video Solution

62. What is the (a) highest :(b) lowest total
resistance that can be secured by combination

of four coils of resistances 4() 8 2 12() 24()?

o Watch Video Solution



https://dl.doubtnut.com/l/_u0x5LEjtQdxm
https://dl.doubtnut.com/l/_kH9mX0RLskmA
https://dl.doubtnut.com/l/_zRCi4ey6Uxh3

63. What is the (a) highest :(b) lowest total
resistance that can be secured by combination

of four coils of resistances 4() 8 2 12() 24()?

o Watch Video Solution

64. Why does the cord of an electric heater

not glow while the heating element does?

° Watch Video Solution



https://dl.doubtnut.com/l/_zRCi4ey6Uxh3
https://dl.doubtnut.com/l/_svrdPeQhTtta

65. Compute the heat generated while
transferring 96,000 C of charge in one hour

through a potential difference of 50 V.

o Watch Video Solution

66. An electric iron of resistance 20 () takes a
curent of 5 A. Calculate the heat developed in

30s.

o Watch Video Solution



https://dl.doubtnut.com/l/_UxyFVUrk9FL3
https://dl.doubtnut.com/l/_CVx0RKmbZXcP
https://dl.doubtnut.com/l/_BqsAK3zmU7gz

67. What determines the rate at which the

energy is delivered by a current?

° Watch Video Solution

68. An electric motor takes 5A form a 220 V
line. Determine the power of the motor and

the energy consumed in 2 hours

° Watch Video Solution



https://dl.doubtnut.com/l/_BqsAK3zmU7gz
https://dl.doubtnut.com/l/_cGOCMuMUOy4R

69. A piece of wire of resistance R is cut into
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R, then the
ratio R/R' is

A.1/25

B.1/5

C.5

D. 25

Answer:


https://dl.doubtnut.com/l/_ELwOZ4duL9EZ

° Watch Video Solution

70. Which of the following terms does not

represent electrical power in a circuit?

A I’R

B. [R?

C. Vi



https://dl.doubtnut.com/l/_ELwOZ4duL9EZ
https://dl.doubtnut.com/l/_NqmToHjTY2lV

71. An electric bulb is rated 220 V and 100 W.

when it is operated on 110 V, the power

consumed will be

A. 100 W

B.75W

C.50 W

D.75W

Answer:



https://dl.doubtnut.com/l/_NqmToHjTY2lV
https://dl.doubtnut.com/l/_VZC3v1S2JOaV

I O Watch Video Solution

72. Two conducting wires of the same material
and of equal length and equal diameters are
first connected in series and then in parallel in
an electric circuit. The ratio of heat produced
in series and parallel combination would be (a)

1:2 (b)2:1 (c)1:4(d)4:1

A.1l:2

B.2:1

C.1:4


https://dl.doubtnut.com/l/_VZC3v1S2JOaV
https://dl.doubtnut.com/l/_ECEf73RxtvDg

D.4:1

Answer:

o Watch Video Solution

73. How is a voltmeter connected in the circuit
to measure potential difference between two

points?

o Watch Video Solution



https://dl.doubtnut.com/l/_ECEf73RxtvDg
https://dl.doubtnut.com/l/_7enJAJucaOUA

74. A copper wire has diameter 0.5 mm, and
resistivity of 1.6 x 10~ %ohm — m. What will
be the length of this make its resistance
100hm? How much does the resistance

change if the diameter is doubled.

o Watch Video Solution

75. The values of current | flowing in a given
resistor of the corresponding values of

potential difference V across the resistor are


https://dl.doubtnut.com/l/_OXqtBdxvCSLJ
https://dl.doubtnut.com/l/_S8RnnEy4G6ZR

given below:

Hamperes) 05 1.0 20 2D 4.0
Vivolis) 1.& 34 &7 102 132

Plot a graph between V and | and calculate the

resistance of that resistor.

° Watch Video Solution

76. When a 12 V battery is connected across an
unknown resistor, there is a current of 2.5 mA
in the circuit. Find the value of the resistance

of resistor?

o Watch Video Solution



https://dl.doubtnut.com/l/_S8RnnEy4G6ZR
https://dl.doubtnut.com/l/_VkJMDDRcBilA

77. A battery 9 V is connected in series with
resistors of 0.2(2 ,0.3(2 0.4 Q 0.5Q2 and 12 (2
respectivelyHow much current will flow

through a 122 resistor?

° Watch Video Solution

78. How many 176 €2 resistors in parallel are

required to carry 5A on a 220 V line?

o Watch Video Solution



https://dl.doubtnut.com/l/_VkJMDDRcBilA
https://dl.doubtnut.com/l/_3Af2yqIcKARC
https://dl.doubtnut.com/l/_YkJTIpw9E9hl

79. How will you connect three resistors, each
of resistance 6 (2, so that the combination has

a resistance of (i) 9 Q(ii) 4 ()

o Watch Video Solution

80. How will you connect three resistors, each
of resistance 6 2, so that the combination has

a resistance of (i) 9 Q(ii) 4 ()

o Watch Video Solution



https://dl.doubtnut.com/l/_YkJTIpw9E9hl
https://dl.doubtnut.com/l/_pVGBNG8RkKfH
https://dl.doubtnut.com/l/_XNL9UgkruDON

81. Several electric bulbs designed to be used
on a 220 V electric supply line are rated 10 W.
How many lamps can be connected in parallel
with each other across the two wires 220 V

line if the maximum allowable current is 5A?

o Watch Video Solution

82. A hot plate of an electric oven connected
to a 220 V line has two resistance coils A and

B,each of 24} resistancewhich may be used


https://dl.doubtnut.com/l/_LdqD0Mag79ji
https://dl.doubtnut.com/l/_h6BdLTnTb6Yp

separately,in series or in parallel what are

current in three cases?

° Watch Video Solution

83. Compare the power used in the 20hm
resistor in each of the following circuits
a 6V battery in series with 1Q and 2(2

resistors?

o Watch Video Solution



https://dl.doubtnut.com/l/_h6BdLTnTb6Yp
https://dl.doubtnut.com/l/_ZCHQ4aeZOHYb

84. Compare the power used in 2 €2 resistor in
each of the following circuits: a 4 V battery in

parallel with 12  and 22 resistors.

o Watch Video Solution

85. Two lamps, one rated 100 W at 220 V and
other 60 W at 220V, are connected in parallel
to electric main supply. What current is drawn

from the line if the supply voltage is 220 V?

o Watch Video Solution



https://dl.doubtnut.com/l/_goNIuHBIELvo
https://dl.doubtnut.com/l/_kosx5vgR8dJs

86. Which uses more energy, a 250 W TV set

for 1 hour or a 1,200 W toaster for10 minutes?

o Watch Video Solution

87. An electric heater of resistance 82 draws 15
A from service mains for 2 hour,Calculate the

rate at which heat is developed in the heater.

o Watch Video Solution



https://dl.doubtnut.com/l/_kosx5vgR8dJs
https://dl.doubtnut.com/l/_uS8mg5qrYwsZ
https://dl.doubtnut.com/l/_YLV00fNDVsba
https://dl.doubtnut.com/l/_L9YLqTGZ6KU1

88. Explain the following : Why is the tungsten
used almost exclusively for flament of electric

lamps?

o Watch Video Solution

89. Explain the following:Why are the
conductors of electric heating devices,such as
bread toasters and electric irons, made of an

alloy rather than pure metal?

° Watch Video Solution



https://dl.doubtnut.com/l/_L9YLqTGZ6KU1
https://dl.doubtnut.com/l/_14EpSdkGkzY8
https://dl.doubtnut.com/l/_4lqhaC8Byi47

90. Explain the following : Why is the series

arrangement not used in domestic circuits?

o Watch Video Solution

91. Explain the following:How does the
resistance of a wire vary with its area of cross-

section?

o Watch Video Solution



https://dl.doubtnut.com/l/_4lqhaC8Byi47
https://dl.doubtnut.com/l/_j1H0CdQYgHlq

92. Explain the following : Why are copper and
aluminium usually employed for electricity

transmission?

o Watch Video Solution

93. A child has drawn the electric circuit to
study Ohm's law as shown in figure. His
teacher told that the circuit diagram needs

correction. Study the circuit diagram and


https://dl.doubtnut.com/l/_OUF0Z7pMkdEc
https://dl.doubtnut.com/l/_rnKUe1TM2hnJ

redrqw it after making all corrections.

Al
|

L

_t;;j'_w_

o Watch Video Solution

94. Three 2o0hm resistance A, B and C are
connected as shown in figure. Each of them

disipates energy and can withstand a


https://dl.doubtnut.com/l/_rnKUe1TM2hnJ
https://dl.doubtnut.com/l/_HABsQ6YktM7h

maximum powr of 18W without melting. Find
the maximum current that can flow through

the three resistors.

pi 1

° Watch Video Solution

95. Explain why the resistance of ammeter is

kept low.

o Watch Video Solution



https://dl.doubtnut.com/l/_HABsQ6YktM7h
https://dl.doubtnut.com/l/_X90ylRX7QzbR

96. Draw a circuit diagram of an electric circuit
containing a cell, a key, an ammeter, a resistor
of 2 ohms in series with a combination of two
resistors (4 ohms each) in parallel and a
voltmeter across the parallel combination. Will
the potential difference across the 2 ohms
resistor be the same as that across the
parallel combination of 4 ohms resistors? Give

reasons.

o Watch Video Solution



https://dl.doubtnut.com/l/_X90ylRX7QzbR
https://dl.doubtnut.com/l/_9MeFL8am9Pm4
https://dl.doubtnut.com/l/_3AW0NWOYvv5E

97. How does the use of fuse wire save the

electrical appliances?

o Watch Video Solution

98. What is electrical resistivity? In a series
electrical circuit comprising of a resistor
having a metallic wire, the ammeter reads 5 A.
The reading of the ammeter decreases to half

when the length of the wire is doubled. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_3AW0NWOYvv5E
https://dl.doubtnut.com/l/_shxxU0otnPz9

99. What is the commercial unit of electical

energy? Represent it in terms of joules.

o Watch Video Solution

100. A current of 1 ampere flows in series
circuit contains an electric lamp and a
conductor of 5 ohm when connected to a 10V
battery. Calculate the resistance of the electric
lamp. Now if a resistance of 10 ohm s

connected in parallel with this series


https://dl.doubtnut.com/l/_qeO4ZW7FkPKi
https://dl.doubtnut.com/l/_IxOpw758LrIX

combination, what change in current flowing
through 5 ohm conductor and potential
difference across the lamp will take place? Give

reason.

o Watch Video Solution

101. Explain the following : Why is the series

arrangement not used in domestic circuits?

o Watch Video Solution



https://dl.doubtnut.com/l/_IxOpw758LrIX
https://dl.doubtnut.com/l/_5gycyA3ytXLk

102. By, By and Bj are three identical bulbs
connected as shown in figure. When all the
three bulbs glow, a current of 3A is recorded

by the ammeter A.

What happens to the glow of the other two

bulbs when the bulb B; gets fused?

I o Watch Video Solution


https://dl.doubtnut.com/l/_4axUdb902Qq7

103. B, B> and Bj are three identical bulbs
connected as shown in figure. When all the
three bulbs glow, a current of 3A is recorded

by the ammeter A.

What happens to the reading of A, A,, A3

and A when the bulb B, gets fused?


https://dl.doubtnut.com/l/_4axUdb902Qq7
https://dl.doubtnut.com/l/_Zb54qNYlqKsD

° Watch Video Solution

104. B;, By and Bj are three identical bulbs
connected as shown in figure. When all the
three bulbs glow, a current of 3A is recorded

by the ammeter A.


https://dl.doubtnut.com/l/_Zb54qNYlqKsD
https://dl.doubtnut.com/l/_4PCIhLpfXgOf

How much power is disseprated in the circuit

when all the three bulbs glow together?

o Watch Video Solution

105. Three incandescent bulbs of 100 W each
are connected in series in an electric circuit. In
another set of three bulbs of the same
wattage are connected in parallel to the
source.

Will the bulb in the two circuits glow with the

same brightness? Justify your answer.

| e |


https://dl.doubtnut.com/l/_4PCIhLpfXgOf
https://dl.doubtnut.com/l/_fv7JP5Es45os

& Wwatch Video Solution I

106. Three incandescent bulbs of 100 W each
are connected in series in an electric circuit. In
another set of three bulbs of the same
wattage are connected in parallel to the
source.

Now, let one bulb in both the circuits get
fused. Will the rest of the bulbs continue to

glow in each circuit? Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_fv7JP5Es45os
https://dl.doubtnut.com/l/_0b8RwIrsYcFe
https://dl.doubtnut.com/l/_5xd8Mm5rDvTF

107. What is ohm's law? How can it be verified?

o Watch Video Solution

108. What is electrical resistivity of a material?

What is its unit?

° Watch Video Solution

109. How will you infer with the help of an

experiment that the same current flows


https://dl.doubtnut.com/l/_5xd8Mm5rDvTF
https://dl.doubtnut.com/l/_jmU5w2ggNEez
https://dl.doubtnut.com/l/_NkEVBvb3w7HE

through very part of the circuit containing
three resistance in series connected to a

battery?

o Watch Video Solution

110. How will you conclude that the same
potential difference voltage exists across
three resistors connected in a parallel

arrangements to a battery?

° Watch Video Solution



https://dl.doubtnut.com/l/_NkEVBvb3w7HE
https://dl.doubtnut.com/l/_wLUZ9XPRGgYx
https://dl.doubtnut.com/l/_xFgt5l1j0lJS

111. What is the joule's heating effect? How can
it be demonstrated experimentally? List its

four appliances in daily life.

° Watch Video Solution

12. Find out the following in the electric

circuit given in figure.


https://dl.doubtnut.com/l/_xFgt5l1j0lJS
https://dl.doubtnut.com/l/_7k9bPRgB0RVB
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Effective resistance of two 8ohm resistors in

the combination?

o Watch Video Solution

113. Find out the following in the electric

circuit given in figure.


https://dl.doubtnut.com/l/_7k9bPRgB0RVB
https://dl.doubtnut.com/l/_lqJpQV6AF3LF
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I IrCT NS

Current flowing through 40hm resistors?

o Watch Video Solution

14. Find out the following in the electric

circuit given in figure.


https://dl.doubtnut.com/l/_lqJpQV6AF3LF
https://dl.doubtnut.com/l/_nFhGrrSAcxwf
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I IrCT NS

Potential difference across 4ohm resistance.

o Watch Video Solution

115. Find out the following in the electric

circuit given in figure.


https://dl.doubtnut.com/l/_nFhGrrSAcxwf
https://dl.doubtnut.com/l/_nX7tSXh9I8FL
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Power dissipated in 40hm resistor.

o Watch Video Solution

116. Find out the following in the electric

circuit given in figure.


https://dl.doubtnut.com/l/_nX7tSXh9I8FL
https://dl.doubtnut.com/l/_qO0aR3bbN30k
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Difference in ammeter readings if any.

o Watch Video Solution

117. In a circuit two resistors bohm and 10o0hm
are connected in series. How can the current
passing through the two resistors can be

compared?



https://dl.doubtnut.com/l/_qO0aR3bbN30k
https://dl.doubtnut.com/l/_0es7GnDpr51e

\ o Watch Video Solution

118. Two wires of equal length, one of copper
and the other of manganin have the same
thickness. Which one will be used for its

electrical transmission lines?

o Watch Video Solution

119. Two wires of equal length, one of copper

and the other of manganin have the same


https://dl.doubtnut.com/l/_0es7GnDpr51e
https://dl.doubtnut.com/l/_HrFtRaMebU98
https://dl.doubtnut.com/l/_GqHvZuDkAXo8

thickness. Which one will be used for its

electrical heating devices? Why?

° Watch Video Solution

120. Two metallic wires A and B of same
material are connected in parallel. Wire A has
length | and radius r and wire B has length 2I.
Calculate the ratio of the total resistance of
parallel combination and the resistance of

wire A?

° Watch Video Solution



https://dl.doubtnut.com/l/_GqHvZuDkAXo8
https://dl.doubtnut.com/l/_HMvHlTFXILWD

121. How is the direction of current related to

the direction of flow of electron in a wire?

° Watch Video Solution

122. Consider the following circuit:

)| " R,
| I‘I II PN A
| ;
-3 %Ft; R,

SEETPFTYET



https://dl.doubtnut.com/l/_HMvHlTFXILWD
https://dl.doubtnut.com/l/_15ts8hTX2QWd
https://dl.doubtnut.com/l/_cc12pX71muRP

R1:R2:R3:R4:R5:2ohm

Which two resistors are connected in series?

° Watch Video Solution

123. Consider the following circuit:

5‘-'|
|‘| .|'|I'-|'-'-|"|"|"'-
l .-_"' .-; i
' I
-3 éFt.- R,
i

Ri = Ry = R3 = Ry = R = 20hm

Which two resistors are connected in parallel?

|


https://dl.doubtnut.com/l/_cc12pX71muRP
https://dl.doubtnut.com/l/_XHOOPzim6nn2

| ' Watch Video Solution

124. Consider the following circuit:

5 IM: R,
R,
1
& %Ft; R,
et St -

R1 = Ry = R3 = R4 = R = 20hm

What current will flow in the circuit?

o Watch Video Solution



https://dl.doubtnut.com/l/_XHOOPzim6nn2
https://dl.doubtnut.com/l/_CpRbtQaQs6aj

125. Derive the expression for the heat
produced due to a current 'I' flowing for a time
interval 't' through a resistor 'R' having a
potential difference 'V' across its ends. With

which name is this relation known ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MJLfsUWuvjeA

126. A circuit is shown in the diagram

|\4 ——{s

Find the value of R.

° Watch Video Solution



https://dl.doubtnut.com/l/_a3rh4USWMIi5

127. A circuit is shown in the diagram

|\4 ——{s

61

G [Fa )

Find the reading of ammeter?

° Watch Video Solution



https://dl.doubtnut.com/l/_2imEl92k9w14

128. A circuit is shown in the diagram

|‘J p—{ )
2 1
[
i - ==
6y ')

Find the potential differnce across the

terminals of the battery.

o Watch Video Solution



https://dl.doubtnut.com/l/_SCbI1nNu9Fq2
https://dl.doubtnut.com/l/_tM3S0E9qdIx1

129. Five resistors are connected in a circuit as
shown, find the ammeter reading when the

circuit is closed.

0.5
.5

|r— (»)
v

° Watch Video Solution



https://dl.doubtnut.com/l/_tM3S0E9qdIx1
https://dl.doubtnut.com/l/_HsWi2N29mzB4

130. Name the physical quantity which is
same
different in all bulbs when three bulbs are of

same wattage are connected on series.

o Watch Video Solution

131. Name the physical quantity which is
same
different in all bulbs when three bulbs are of

same wattage are connected in parallel.

I o Watch Video Solution


https://dl.doubtnut.com/l/_HsWi2N29mzB4
https://dl.doubtnut.com/l/_r4HQTFngPiTJ

132. Name the physical quantity which is
same
different in all bulbs when three bulbs are of

different wattage are connected in series.

o Watch Video Solution

133. Name the physical quantity which is

same


https://dl.doubtnut.com/l/_r4HQTFngPiTJ
https://dl.doubtnut.com/l/_j0EnXUxQGst1
https://dl.doubtnut.com/l/_QZDtLvJKRPsP

different in all bulbs when three bulbs are of

different wattage are connected in parallel.

° Watch Video Solution

134. Two identical wires one of Nichrome and
other copper are connected in series and a
current | is passed through them.State the
change observed in the temperature of the 2
wires Justify your answer .State the law which

explains the above observation.

° Watch Video Solution



https://dl.doubtnut.com/l/_QZDtLvJKRPsP
https://dl.doubtnut.com/l/_I46VrBVaDcHH

135. An electric bulb is rated 60W, 240V.
Calculate its resistance. If the volatage drops
to 192y, calculate the power consumed and the
current drawn by the bulb.[Assume the

resistance of the bulb remians unchanged].

o Watch Video Solution

136. A wire has a resistance of 16 ohm it is

melted and drawn into a wire of half its length


https://dl.doubtnut.com/l/_I46VrBVaDcHH
https://dl.doubtnut.com/l/_0r427F89FlhV
https://dl.doubtnut.com/l/_UoXyknKup2bP

calculate the resistance of new wire what is

the percentage change in its resistance

° Watch Video Solution

137. Three identical resistors are first
connected in series and then in parallel find
the ratio of the equivalent resistance in two

cases

o Watch Video Solution



https://dl.doubtnut.com/l/_UoXyknKup2bP
https://dl.doubtnut.com/l/_zwauSPDYKasQ

138. A fuse wire melts at 5A. If it is desired that
the fuse wire of the same material melt at 10A,
then should the new fuse wire be of smaller or
larger radius than the earlier one? Give

reasons for your answer.

o Watch Video Solution

139. Why do we use copper and aluminium
wire for transmission of electrical current?

Why not iron?

| I


https://dl.doubtnut.com/l/_pcuxlqM0gsmv
https://dl.doubtnut.com/l/_euHB22QtDubM

| ¥ Watch Video Solution |

140. A piece of wire having resistance R is cut
into five equal parts.
How does the resistance of each part of the

wire compare with the original resistance?

o Watch Video Solution

141. A piece of wire having resistance R is cut
into five equal parts.

If the five parts of the wire are placed in


https://dl.doubtnut.com/l/_euHB22QtDubM
https://dl.doubtnut.com/l/_UPP0Nd0QAMrz
https://dl.doubtnut.com/l/_aVNlMliXOeR9

parallel,lhow will the resistance of the
combination compare with the resistance of

original wire?

° Watch Video Solution

142. How much current will be drawn by an
electric iron from a 220 V source if the
resistane of its element when hot is 550hm?
Calculate the wattage of electric iron when it

operates on 220V?

° Watch Video Solution



https://dl.doubtnut.com/l/_aVNlMliXOeR9
https://dl.doubtnut.com/l/_RsNoqfbeoDmI

143. In an electric field the work done in
bringing a 2 coulomb charge from infinity to a
point a is 10 joules and in bringing the same
charge to some another point B is 20 joule
find the potential difference between two
points A and B what would be the work done if
the same charge is brought directly from A to

B.

° Watch Video Solution



https://dl.doubtnut.com/l/_RsNoqfbeoDmI
https://dl.doubtnut.com/l/_0swMLz0ffdVo

144. Write in the form of a formula a
relationship between resistance and resistivity
of an ohmic conductor. A wire of length ‘I’ and
resistance ‘R’ is stretched so that it’s length is
doubled and area of cross section is halved.

How will its

resistance change?

o Watch Video Solution



https://dl.doubtnut.com/l/_3ZNhdhuyO0Wl

145. Write in the form of a formula a
relationship between resistance and resistivity
of an ohmic conductor. A wire of length ‘I’ and
resistance ‘R’ is stretched so that it’s length is
doubled and area of cross section is halved.
How will its

resistivity change . Justify your answer in each

case.

o Watch Video Solution



https://dl.doubtnut.com/l/_23TuaSm0YRDe

146. Which has more resistivity, a thick or thin

wire of the same material?

o Watch Video Solution

147. Why should an electrician use gloves while
repairing an electric switch at your home ?

Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_hosnAfN0RHlQ
https://dl.doubtnut.com/l/_5ciNq1N5Pm4X

148. What is the difference between a fuse

wire and a heating wire?

o Watch Video Solution

149. The heating elements of a heater
becomes red has but not the connecting wire.

Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_ggpxXGYvuup0
https://dl.doubtnut.com/l/_1ImAykC0uUVI

150. What is the meant by quantisation of

electric charge?

o Watch Video Solution

151. Does mass of a body change on charging?

° Watch Video Solution

152. On a rainy evening storm grew loud and

apace and dazzling streaks of light seen in the


https://dl.doubtnut.com/l/_x5Gxo7iyakFR
https://dl.doubtnut.com/l/_9c2W3Vt04GR6
https://dl.doubtnut.com/l/_SWgKKgUQukwp

dark sky. Ananya was driving her car. At a turn,
she saw a girl standing under a tree, trying to
save herself from the rain. She stopped her car
and called the girl to sit in the car. the girl who
was deseparately looking for help took her
assistance. Ananya a left the girl at her
residence and during thier journey she
explained the girl how lightning occurs and
standing under a wet tree is very risky whereas

sititng in a car is safe.


https://dl.doubtnut.com/l/_SWgKKgUQukwp

Lightrung and thunder

What accroding to you are the moral values

displayed by Ananya?

o Watch Video Solution



https://dl.doubtnut.com/l/_SWgKKgUQukwp

153. On a rainy evening storm grew loud and
apace and dazzling streaks of light seen in the
dark sky. Ananya was driving her car. At a turn,
she saw a girl standing under a tree, trying to
save herself from the rain. She stopped her car
and called the girl to sit in the car. the girl who
was deseparately looking for help took her
assistance. Ananya a left the girl at her
residence and during thier journey she
explained the girl how lightning occurs and
standing under a wet tree is very risky whereas

sititng in a car is safe.


https://dl.doubtnut.com/l/_ngqrFUQr35MF

Lightrung and thunder

Why is it not safe to stand under a tree on a

rainy day?

o Watch Video Solution



https://dl.doubtnut.com/l/_ngqrFUQr35MF

154. On a rainy evening storm grew loud and
apace and dazzling streaks of light seen in the
dark sky. Ananya was driving her car. At a turn,
she saw a girl standing under a tree, trying to
save herself from the rain. She stopped her car
and called the girl to sit in the car. the girl who
was deseparately looking for help took her
assistance. Ananya a left the girl at her
residence and during thier journey she
explained the girl how lightning occurs and
standing under a wet tree is very risky whereas

sititng in a car is safe.


https://dl.doubtnut.com/l/_dSmbOVtrDM0Y

Lightrung and thunder

Why is it not safe to stand under a tree on a

rainy day?

o Watch Video Solution



https://dl.doubtnut.com/l/_dSmbOVtrDM0Y

155. Rahul left his car's headlights on while
parking. when the returned back after office
hours, he found that his car was not starting.
His friend Sarthik, who used to share the car
him for coming to office, brought a mechanic
who found that as the headlights were left
open, the car's battery got exhausted. The
mechanic brought another battery and
connected its terminals with the battery of hte
car. this is how he started the car and told
Rahul not to shut off the engine at least 15

minutes.


https://dl.doubtnut.com/l/_eNB2uIxv2o0L

what hapens if the headlight remains sdson

for a few hours while the car is not running?

O Watch Video Solution

156. Rahul left his car's headlights on while
parking. when the returned back after office
hours, he found that his car was not starting.
His friend Sarthik, who used to share the car
him for coming to office, brought a mechanic
who found that as the headlights were left

open, the car's battery got exhausted. The


https://dl.doubtnut.com/l/_eNB2uIxv2o0L
https://dl.doubtnut.com/l/_lXm9qq9gnT2S

mechanic brought another battery and
connected its terminals with the battery of hte
car. this is how he started the car and told
Rahul not to shut off the engine at least 15
minutes.

what hapens if the headlight remains sdson

for a few hours while the car is not running?

o Watch Video Solution

157. Rahul left his car's headlights on while

parking. when the returned back after office


https://dl.doubtnut.com/l/_lXm9qq9gnT2S
https://dl.doubtnut.com/l/_cO0zQF5bdPJz

hours, he found that his car was not starting.
His friend Sarthik, who used to share the car
him for coming to office, brought a mechanic
who found that as the headlights were left
open, the car's battery got exhausted. The
mechanic brought another battery and
connected its terminals with the battery of hte
car. this is how he started the car and told
Rahul not to shut off the engine at least 15
minutes.

what hapens if the headlight remains sdson

for a few hours while the car is not running?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_cO0zQF5bdPJz

1. Define electric current and give its unit

° Watch Video Solution

2. Define

one volt?

o Watch Video Solution



https://dl.doubtnut.com/l/_cO0zQF5bdPJz
https://dl.doubtnut.com/l/_gZIhqDf0YF53
https://dl.doubtnut.com/l/_vRww2OPVUA6S

3. Define electric current and give its unit

o Watch Video Solution

4, Define

one ampere?

o Watch Video Solution

5. What is a electric circuit?

o Watch Video Solution



https://dl.doubtnut.com/l/_LZNlKMsMIe3n
https://dl.doubtnut.com/l/_JjYCvkMf2oNj
https://dl.doubtnut.com/l/_MR5ehxTJ6hFy

6. What is the difference between a voltmeter

and an ammeter?

o Watch Video Solution

7. 2 ampere of current is flowing through a
wire.What is the amount of charge passing
through it in 1 min ?Also find the number of
electrons passed through a cross-section of

wire in this time.

| & I


https://dl.doubtnut.com/l/_MR5ehxTJ6hFy
https://dl.doubtnut.com/l/_p4VLBk428f4r
https://dl.doubtnut.com/l/_Ydk8rR5q9jD9

| ¥ Watch Video Solution |

8. Find thr electric potential of a point if 2J of
work is done in bringing a charge of 0.2C from

infinity to that point.

o Watch Video Solution

9. Find the potential difference between two
points if 5] of works is done in moving a

charge of 2mC from one point to another.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ydk8rR5q9jD9
https://dl.doubtnut.com/l/_rbfj0tdMCumV
https://dl.doubtnut.com/l/_cKu0vil0ROTT

10. How many electrons should be removed
from a condutor so that it acquires a postion

charge of 3.5 x 10~ °C.

o Watch Video Solution

11. An electric bulb draws a current of 0.5A for
10 minutes .Calculate the amount of electric

charge that flows through the circuit.

o Watch Video Solution



https://dl.doubtnut.com/l/_cKu0vil0ROTT
https://dl.doubtnut.com/l/_DToAmRwRioUm
https://dl.doubtnut.com/l/_MQD9ymGgJbwr

12. Draw the following electrical symbols:

Battery

o Watch Video Solution

13. Draw the following electrical symbols:

plug key(closed)

o Watch Video Solution



https://dl.doubtnut.com/l/_MQD9ymGgJbwr
https://dl.doubtnut.com/l/_9ypliO3oYnFI
https://dl.doubtnut.com/l/_fCvCnbKoCbhS

14. Draw the following electrical symbols:

variable resistance

o Watch Video Solution

15. Draw the following electrical symbols:

Electric bulb?

o Watch Video Solution



https://dl.doubtnut.com/l/_PPSvqn0VLNvn
https://dl.doubtnut.com/l/_zwmlyK3n5jq5

16. Write ohm's law. Draw a circuit diagram to

prove it experimentally in the laboratory?

o Watch Video Solution

17. On what factors does resistance depends?

Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_LUcXrIhtbrDt
https://dl.doubtnut.com/l/_8XZZJYi0Uz4K

18. For three resistors connected in
parallel,prove that the equivalent resistance is

equal to the sum of the individual resistance

Rp is given by—— — — + — 4+ —
IS glven _— =
P e Y e T Ri " Ry | Rs

o Watch Video Solution

19. Find the equivalent resistance of three
resistors of  20hm, 30hm, 40hmwhen
connected

in series ?

| & I


https://dl.doubtnut.com/l/_cwULw2y31CXR
https://dl.doubtnut.com/l/_CwXFQnS2S4SX

| ¥ Watch Video Solution |

20. Find the equivalent resistance of three
resistors of  20hm, 30hm, 40hmwhen
connected

in parallel?

° Watch Video Solution

21. A wire of resistance 200hmis bent in the

from of closed circleWhat is the effective


https://dl.doubtnut.com/l/_CwXFQnS2S4SX
https://dl.doubtnut.com/l/_NQkcgSokMNWV
https://dl.doubtnut.com/l/_P9FjqNSz5SH0

resistance between two points at the ends of

any diameter of the circle?

° Watch Video Solution

22. Calculate the effective resistance between

A and B
10 [ ,-f f¥] Y
(@) A { ) W
A

o Watch Video Solution



https://dl.doubtnut.com/l/_P9FjqNSz5SH0
https://dl.doubtnut.com/l/_EaITRsdY4UWc

23. Calculate the effective resistance between

A and B

B
b) A—t ‘:: -

o Watch Video Solution

24. Calculate the effective resistance between

A and B


https://dl.doubtnut.com/l/_yBlduJWe8VdZ
https://dl.doubtnut.com/l/_VYs4PkFDHIey
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Also find the reading of ammeter and

voltmeter for part( c).

° Watch Video Solution

25. In the given circuit calculate

the total resistance of the circuit.


https://dl.doubtnut.com/l/_VYs4PkFDHIey
https://dl.doubtnut.com/l/_5spA69HjWOnj

o Watch Video Solution

26. In the given circuitcalculate

current flowing through the circuit



https://dl.doubtnut.com/l/_5spA69HjWOnj
https://dl.doubtnut.com/l/_9nae8wg1xWrh

° Watch Video Solution

27.In the given circuit calculate
potential difference across the lamp and

resistor.

wal i 60

° Watch Video Solution



https://dl.doubtnut.com/l/_9nae8wg1xWrh
https://dl.doubtnut.com/l/_F1n1MBEqzxEZ
https://dl.doubtnut.com/l/_agIPoS2fC6wt

28. A piece of wire of resistance 200hmis
drawn out so that its length is increased to
twice its original length.Calculate the

resistance of the wire in its new situation.

o Watch Video Solution

29. Study the following electric circuit and find

potential difference across 4Ohmresistor

" 9 i
e s e ialin Baioioio o d



https://dl.doubtnut.com/l/_agIPoS2fC6wt
https://dl.doubtnut.com/l/_7wWICRUkTIwh

o Watch Video Solution

30. State four different ways in which three
resistors of 'r' ohm each may be connected in
a circuit. In which case is the equivalent
resistance of the combination

maximum

o Watch Video Solution



https://dl.doubtnut.com/l/_7wWICRUkTIwh
https://dl.doubtnut.com/l/_ESmPzpN7Non0

31. State four different ways in which three
resistors of 'r' ohm each may be connected in
a circuit. In which case is the equivalent
resitance of the combination

minimum

o Watch Video Solution

32. A lamp rated 100 W at 220 V is connected

to the mains electric supply. What current is


https://dl.doubtnut.com/l/_RoV7Wu0Zvucq
https://dl.doubtnut.com/l/_SDqVeT3rtCZm

drawn from the supply line if the voltage is

220V.

° Watch Video Solution

33. Calculate the electric energy consumed by

a 1200 W toaster in 20 minutes.

o Watch Video Solution

34. Write the formula for the amount of the

heat produced in a resistor when current flows


https://dl.doubtnut.com/l/_SDqVeT3rtCZm
https://dl.doubtnut.com/l/_GIxFO7uIc4lP
https://dl.doubtnut.com/l/_SEkqNHJqEALj

through it for time. Give three applications of

heating effect of current.

° Watch Video Solution

35. Define power. Give its S.I unit and define it.

° Watch Video Solution

36. A current of 5A flows through 120hm
resistor. What is the rate at which heat energy

is produced in the resistor.


https://dl.doubtnut.com/l/_SEkqNHJqEALj
https://dl.doubtnut.com/l/_avf3SkR4zaTt
https://dl.doubtnut.com/l/_Lk6JUxTh1N6k

° Watch Video Solution

37. Name the two type of electric charge.

° Watch Video Solution

38. What is Sl unit of electric potential?

° Watch Video Solution



https://dl.doubtnut.com/l/_Lk6JUxTh1N6k
https://dl.doubtnut.com/l/_FpWfXHcGxAEB
https://dl.doubtnut.com/l/_fk3947JjgwzD

39. What is the name given to flow of electric

charge per unit time in a wire?

° Watch Video Solution

40. Name a device used to measure potential

difference between two points in a circuit?

o Watch Video Solution



https://dl.doubtnut.com/l/_zG5HXEld5QnP
https://dl.doubtnut.com/l/_AdtF9nr1G2LI

41. How is a voltmeter connected in the circuit
to measure potential difference between two

points?

o Watch Video Solution

42. Which instrument is used to measure

current in the circuit ? how is it connected in

the circuit?

o Watch Video Solution



https://dl.doubtnut.com/l/_ahVeVhxCnMzd
https://dl.doubtnut.com/l/_uwz6SEgTIv93
https://dl.doubtnut.com/l/_PAPuq9bh7vHu

43. How is ammeter always connected in

circuits?

o Watch Video Solution

44. If potential difference across resistor is
increased, will the current increase or

decrease?

o Watch Video Solution



https://dl.doubtnut.com/l/_PAPuq9bh7vHu
https://dl.doubtnut.com/l/_FK9nBn3HZIzy

45. When temperature of metal increases,

does the resistance increases or decreases?

° Watch Video Solution

46. Which physical quantity has its unit kwh?

° Watch Video Solution

47. In a metal wire, electron moves from

negative end to positive end and, therefore,


https://dl.doubtnut.com/l/_c7PaPJj0lfv3
https://dl.doubtnut.com/l/_Pje2SGqbty1S
https://dl.doubtnut.com/l/_cFwzB9cDWrKD

the direction of electric

negative to positive.

A. true

B. false

Answer:

current

is from

o Watch Video Solution



https://dl.doubtnut.com/l/_cFwzB9cDWrKD

48. For a continuous flow of current through a
wire, the potential difference across the wire

should be maintained.

A. true

B. false

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_n40d6c8hs34u

49. Electrochemical cell is a device which
maintains a constant potential difference

across it ends. true false

o Watch Video Solution



https://dl.doubtnut.com/l/_yUxegoJdiJGU

50.

symbol stands for variable resistor.

° Watch Video Solution

51. The current flows in a metal wire due to

movement of electrons, whereas the current


https://dl.doubtnut.com/l/_mGctEqyuQTuB
https://dl.doubtnut.com/l/_GE2stT2RDUOI

flows in a cell due to movement of ions.

o Watch Video Solution

52. The resistance of copper is more than

nichrome.

A. true

B. false


https://dl.doubtnut.com/l/_GE2stT2RDUOI
https://dl.doubtnut.com/l/_lzMbiwSf5ncP

Answer:

o Watch Video Solution

53. The best conductor of electricity is:

o Watch Video Solution

54, Constaitan is used as a standard resistor. Is

the statement true or false.

° Watch Video Solution



https://dl.doubtnut.com/l/_lzMbiwSf5ncP
https://dl.doubtnut.com/l/_2d4GPIusXlfC
https://dl.doubtnut.com/l/_ZxlcO47zADZj

55. Electrical conductance of metals decreases

with increase in temperature.

o Watch Video Solution

56. The resistivity of a substance depends on
its length and area of cross section. Is the

statement true or false.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZxlcO47zADZj
https://dl.doubtnut.com/l/_p8XmcMxUcsyy
https://dl.doubtnut.com/l/_cD1znTQhY5JZ

57. Ohm's law is a universal law. Is this

statement true.

° Watch Video Solution

58. The following graph is for ohmic

conductor.


https://dl.doubtnut.com/l/_5uk6TEQ0gWQA
https://dl.doubtnut.com/l/_upfcKa41lfJm

Lo = S e B B m

= s this

statement true.

° Watch Video Solution

59. Argon or nitrogen is filled up in place of air
in bulb to increase the life of flament of bulb .

Is this statement true.


https://dl.doubtnut.com/l/_upfcKa41lfJm
https://dl.doubtnut.com/l/_AfeK3aj4B0WZ

° Watch Video Solution

60. Show 1 watt=(1 ampere) x (1 volt)

° Watch Video Solution

61. What is meant by the BOTU (or Board of

Trade unit) of electric energy?

o Watch Video Solution



https://dl.doubtnut.com/l/_AfeK3aj4B0WZ
https://dl.doubtnut.com/l/_NS1bZ5GVT6It
https://dl.doubtnut.com/l/_YPWTR2Hk79th

62. From rated value of power and potential

difference the resistance of the appliance can

2
rated

be found by the formula R = . This

rated

resistance does not change if the same
appliance is used across different potential
difference. But the power of appliance will

change. Is this statement true.

o Watch Video Solution



https://dl.doubtnut.com/l/_xmPjLQsghygD

63. Fill ups

Electric potential at a point is the ... in
MOVINE @ weevees charge from infinity to that
point.

o Watch Video Solution

64. Fill ups

XV =W

o Watch Video Solution



https://dl.doubtnut.com/l/_yfgesZZqZFG8
https://dl.doubtnut.com/l/_vJSQ81zRX8RS
https://dl.doubtnut.com/l/_XcPKV4r4sBQi

65. Fill ups

o Watch Video Solution

66. Fill ups

Q=IX..c..0..0.....

o Watch Video Solution



https://dl.doubtnut.com/l/_XcPKV4r4sBQi
https://dl.doubtnut.com/l/_OCLizQ7lr88g

67. Fill ups
Electric current through an area is the amount

(o) SV flowing through it per second.

o Watch Video Solution

68. Fill ups

The current flowing through a conductor is
directly proportional to the applied....
across the ends of the conductor. Provided the

physical conditions remains the same.

| I


https://dl.doubtnut.com/l/_MaWZNUKCKLRd
https://dl.doubtnut.com/l/_WIIHoNOr96Y3

| ¥ Watch Video Solution |

69. Fill ups

V=IX...0000......

o Watch Video Solution

70. Fill ups
The S. unit of resistance is.......... and is

denoted by............... :

o Watch Video Solution



https://dl.doubtnut.com/l/_WIIHoNOr96Y3
https://dl.doubtnut.com/l/_nnghJ2HZPGZH
https://dl.doubtnut.com/l/_A7M9NZVketsV

71. Fill ups

The resistance of a conductor depends

o Watch Video Solution

72.Fill ups

The S.l unit of resistivity is............... :

o Watch Video Solution



https://dl.doubtnut.com/l/_iUN8jFguXiEE
https://dl.doubtnut.com/l/_e1u1LXoqEW8E

73. Fill ups
Electric iron, electric toaster, electric oven,
electric kettle, electric heater are based

(o] PRV effect of electricity.

o Watch Video Solution

74. Fill ups
If current passes through a resistor s

doubled, the rate of consumption of energy by


https://dl.doubtnut.com/l/_nWI03AUnt7ht
https://dl.doubtnut.com/l/_kYtOplW3vbOt

the resistor becomes ... times, provided

the resistance remains unchanged?

o Watch Video Solution

75. The following circuit diagram shows the
experimental set up for the study of
dependence of current on potential differnce.

Which two circuit components are connected


https://dl.doubtnut.com/l/_kYtOplW3vbOt
https://dl.doubtnut.com/l/_dsrk84Ssr9Vm

in series?

Q) 1

—'|—I|—uﬂ1—_|'-|l—:

A. Battery and voltmeter
B. Ammeter and voltmeter
C. Ammeter and rheostate

D. Resistor and voltmeter

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_dsrk84Ssr9Vm

76. In a voltmeter there are 20 divisin between

the O mark and 0.5 V mark. The least count of

the voltmeter is

A.0.020V

B.0.025V

C.0.050V

D.0.250 V

Answer:



https://dl.doubtnut.com/l/_dsrk84Ssr9Vm
https://dl.doubtnut.com/l/_nJ8GyaupJcWY

| ¥ Watch Video Solution |

77. For the circuits shown in figure | and Il the

voltmeter reading would be

WA = e—————T —— —
2V x 2v

o I T |__'@ I'_'—":'] -Eq.

e B Fa
it T

Ty (]

A.2VIn (1) and OV in (Il)

B. OV in both

C.2vin both


https://dl.doubtnut.com/l/_nJ8GyaupJcWY
https://dl.doubtnut.com/l/_9KJx87pkIM9D

D.OVin(l)and 2 Vin ()

Answer:

o Watch Video Solution

78. Which of the circuit components in the

following circuit diagram are connected


https://dl.doubtnut.com/l/_9KJx87pkIM9D
https://dl.doubtnut.com/l/_H75xxG4h6I1B

inparallel?

t. and R. onlv (M R and V' anie.

A. Ri and R, only

B. R, and V only

C. R; and V only

D. Rl, R21 and V

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_H75xxG4h6I1B

79. The current flowing through a conductor
and the potential difference across it two ends
are as per readings of the ammeter and
voltmeter shown below. The resistance of the

conductor would be

A. 0.02 ohm


https://dl.doubtnut.com/l/_H75xxG4h6I1B
https://dl.doubtnut.com/l/_7zQp7Y8iGvBL

B. 0.024 ohm

C.20.0 ohm

D.24.0 ohm

Answer:

o Watch Video Solution

80. The following instruments are availabel in
a laboratory
Miliammeter A; of range 0-300 mA and least

count 10 mA


https://dl.doubtnut.com/l/_7zQp7Y8iGvBL
https://dl.doubtnut.com/l/_v8qPxz6zhO0V

Millimeter A5 of range 0-200 mA and least
count 20 mA

Voltmeter V; of range 0-5 V and least count
0.2V

Voltmeter V5 of range 0-3V and least count
0.3V

Out of which of he follwoing pairs of
instrumens which pair would be the best
choice for carrying out the experiment to
determine the equivalent ressitance of two

resistance connected in series.

A. Milliammeter A; and voltmeteer V.


https://dl.doubtnut.com/l/_v8qPxz6zhO0V

B. Milliammeter A4, and voltmeteer V5.

C. Milliammeter A; and Voltmeter V;

D. Milimeter A, and Voltmeter V;

Answer:

o Watch Video Solution

81. In an experiment to determine equivalent
resistance of two resistors R; and R, in
series, which one of the following circuit

diagrams shows the correct way of connecting


https://dl.doubtnut.com/l/_v8qPxz6zhO0V
https://dl.doubtnut.com/l/_QLIOp9EHw5TY

the voltmetr in the circuit?

. @ =
{nm

Al

B. Il

C. 1

D. IV

i )
A P
A e e e
jm -
il



https://dl.doubtnut.com/l/_QLIOp9EHw5TY

Answer:

o Watch Video Solution

82. The rest positions of the needles in a
milliammeter and voltmeter when not being
used in a circit are shown in the figure. The

zero error and least count of these two


https://dl.doubtnut.com/l/_QLIOp9EHw5TY
https://dl.doubtnut.com/l/_PPIB0Qk0mcUg

instruments are

A. (+4mA, -0.2V) and (1mA, 0.1V) respectively

B. (+4mA, -0.2V) and (2mA, 0.2V)respectively

C.(-4mA, +0.2V) and (2mA, 0.2V)

respectively

D. (-4ma, +0.2V) and (2mA, 0.1V) respectively


https://dl.doubtnut.com/l/_PPIB0Qk0mcUg

Answer:

o Watch Video Solution

8. The only correct statement for the two

circuits X and Y shown below:



https://dl.doubtnut.com/l/_PPIB0Qk0mcUg
https://dl.doubtnut.com/l/_YxTr8jI7C6CB

A.The resistance R; and R, have been

connected in series in both the circuits

B. The resistors R; and R, are connected

in parallel in both the circuits.

C.IN the circuit the resistros have been

connected in parallel, whereas these are

connected in series in circuit.

D. In the circuit the resistors are conencted

in series, while in circuit is parallel

Answer:


https://dl.doubtnut.com/l/_YxTr8jI7C6CB

° Watch Video Solution

84. The only correct statement for the

following circuit is

mil—.-ﬂl_-.'l-...—. | R


https://dl.doubtnut.com/l/_YxTr8jI7C6CB
https://dl.doubtnut.com/l/_Vf59RNFqv8tF

A.The voltmeter has been correctly

connected in the circuit.

B.The ammeter has been correctly

connected in the circuit

C.The resistors Ry, and R; have been

correctly connected in series.

D.The resistros R; and R, have been

correctly connected in parallel.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Vf59RNFqv8tF

85. Three students (A),(B) and ( C) connected
their two resistor R; and R, in the manner

shown below.


https://dl.doubtnut.com/l/_Vf59RNFqv8tF
https://dl.doubtnut.com/l/_OJB0WDhm5kdw

GG

A, A
I@ %—
R, A,
* 1
K ¥
H1 HI
e S

They connected the terminals marked X and Y

above to the two terminals marked X and Y in


https://dl.doubtnut.com/l/_OJB0WDhm5kdw

the circuit given below:

e N
| x *T‘
® Lag- D

'—I— |-I-|- __lJMlT.:III.

They record the ammeter readings for
different positions of teh rheostate and the
corresponding  voltmeter readings. The
average value of the ratio V/I in thier

observations would be minimum for:

A. Students A and B only

B. Students B and C only


https://dl.doubtnut.com/l/_OJB0WDhm5kdw

C. Students C and A only

D. Students A only

Answer:

o Watch Video Solution

86. To study the dependence of current on the
potential difference across a resistor, two set
ups shown in fig. A and B respectively. They
kept the contact in different positions marked

(M, (2), (3), (4) in the two figures.


https://dl.doubtnut.com/l/_OJB0WDhm5kdw
https://dl.doubtnut.com/l/_SloGJ2QwyfRu

TEF 1= N=l

® o
@
A
; ] L&)

LL]]

For the two students thier ammeter and
voltmeter readings will be minimum when the

contact J is in the positions


https://dl.doubtnut.com/l/_SloGJ2QwyfRu

A. (1) both the set ups

B. (4) in both the set ups

C.(4) in set ups (A) and (1) set up (B)

D. (1) in set up (A) and (4) in set up(B)

Answer:

o Watch Video Solution

87. While performing the experiment to study
the dependence of current on potential

difference across a resistor, following


https://dl.doubtnut.com/l/_SloGJ2QwyfRu
https://dl.doubtnut.com/l/_YajmPPVMoAUs

observtaions were made by four students AB

and Cand D
Student | Reading 1 Reading 2 Reading 3
A V=05V Ve l0V V=15V
[=01A | =024 =034
R V= 08Y Vo= LAV V=24V
| = 0,44 I = 0BA =124
C Vo= 10V V=12V V=14V
I=05A I=144 I=10A
D V=214V V=27V V=30V
1=0AA T=094% I=1.0A

The
teacher found that one of the students has
made wrong observations. The student who

made the mistake is :

A A

B.B


https://dl.doubtnut.com/l/_YajmPPVMoAUs

C.C

D.D

Answer:

o Watch Video Solution

88. In an experiment to determine equivalent
resistance of two resistors R; and R, in
series, which one of the following circuit

diagrams shows the correct way of connecting


https://dl.doubtnut.com/l/_YajmPPVMoAUs
https://dl.doubtnut.com/l/_TwIjLBw2HWSf

the voltmetr in the circuit?



https://dl.doubtnut.com/l/_TwIjLBw2HWSf

Answer:

o Watch Video Solution

89. A 6 V battery for internal resistance 2 ohm
is connected across a 10 ohm resistor and a

switch in series, as shown:

1011

gV — 2



https://dl.doubtnut.com/l/_TwIjLBw2HWSf
https://dl.doubtnut.com/l/_oKGMq7vA1Fbm

If the switch is kept in the off positions, as

shown in the figure, then

A.the voltage difference across the

resistor is 6 V and that across the switch

IS zero

B.the voltage difference across the

resistor is zero and that across the

switch is 6V

C.the voltage difference across the

resistro is 5V and that across the switch


https://dl.doubtnut.com/l/_oKGMq7vA1Fbm

IS zero

D. the voltage difference across he resistor

is 5V and that across the switch is 1V.

Answer:

o Watch Video Solution

90. A student set up his for finding the
equivalent resistance of a seris combination of
the two given resistors R; and R, in the

manner as shown below. He did not obtain the


https://dl.doubtnut.com/l/_oKGMq7vA1Fbm
https://dl.doubtnut.com/l/_fLikyht9FYx6

correct result in his expeirment because of a
mistake in the circuit. The mistake can be

corrected by shifting the component.

—
A H
l"—'-'-w.!..-.-.-.-:.,n? -’”’-f'
R, c

A. Ammeter and connecting if across P and

Q with correct polarity.

B. Ammeter and connecting it between K

and B with corect polarity


https://dl.doubtnut.com/l/_fLikyht9FYx6

C. Voltmete and connecting it across P and

Q with correct polarity

D. Voltmeter and connecting it across B

and P with correct polarity.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fLikyht9FYx6

91. Complete the prime factor tree:

F 3

A. Positon of voltmeter is not correct

B. Position of ammeter is not correct

C.Terminals of voltmeter are

connected correctly

not


https://dl.doubtnut.com/l/_301BvbscyLp4

D. Terminals of ammeter are not conencted

correctly.

Answer:

o Watch Video Solution

92. An ammeter and a voltmeter are joined in
series to a cell. Their readings are A and V
respectively. If a resistacne is now joind in

parallel with the voltmeter


https://dl.doubtnut.com/l/_301BvbscyLp4
https://dl.doubtnut.com/l/_rudgUky9tHHM

A. Both A and V will increase

B. Both A and V will decrease

C. A will decrease, v will increase

D. A will increase, V will decrease.

Answer:

o Watch Video Solution

93. The number of division in ammeter of
range 2A is 10 and voltmeter of range 5V is

20.when switch of the circuit given below is


https://dl.doubtnut.com/l/_rudgUky9tHHM
https://dl.doubtnut.com/l/_7AjNVG8LYD6z

closed, ammeter reading is at 8th division and
voltmeter reading is at 8th divisions. The value

of resistance of resistor is

¥ i

kl‘

AW

- —
ey,
L]
-

o - —

A.1.25 ohm

B.2 ohm

C.0.75 ohm


https://dl.doubtnut.com/l/_7AjNVG8LYD6z

D. 1.5 ohm

Answer:

o Watch Video Solution

94. Ohms law experiment is performed
seperately with individual resistors
R:, Ry(R; > R,) and series combination of
R, RyGraph us placed between potential
difference V and current | as shown in figure

for each case.ldentify which one is for R;, Ry


https://dl.doubtnut.com/l/_7AjNVG8LYD6z
https://dl.doubtnut.com/l/_fXIOdhfuaTl1

and combination of resistors?in the graph

AB,C respectively represents

=T g,

v A

A. R, R, and series combination

B. series combination Ry, R;

C. Ry, Riand series combination


https://dl.doubtnut.com/l/_fXIOdhfuaTl1

D. series combination R, R,

Answer:

o Watch Video Solution

95. In Ohm's law experiment the physicla
quantity quantities which is are to kept
contant while doing experiment is/are:

A. potential difference

B. current


https://dl.doubtnut.com/l/_fXIOdhfuaTl1
https://dl.doubtnut.com/l/_PqEU8PeQFaNG

C. temperature

D. potential difference, current,

temperature

Answer:

o Watch Video Solution

96. The graph between current and the
potential diference in the experimental

verification of Ohm's law were drawn by four


https://dl.doubtnut.com/l/_PqEU8PeQFaNG
https://dl.doubtnut.com/l/_LYdUtgu0Bf6s

students as shown in fig. which one of the

following is correct?

A @
1
B. [:.__.


https://dl.doubtnut.com/l/_LYdUtgu0Bf6s

~—

V—w
1]
D.
Answer:

o Watch Video Solution

97. The circuit diagram shown below is used to
find the effective resistgnec of two resistors in
series.which  circuit  diagram represents

correctly


https://dl.doubtnut.com/l/_LYdUtgu0Bf6s
https://dl.doubtnut.com/l/_3sCaTotRW5gp

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3sCaTotRW5gp

98. A student set up electric circuit shown here
for finding the equivalent resistance of two

resistors in series. In this circuit

L AAAN— IV
R, R,
+ | I_— _{-'J____.

A.resistors are correctly connected but

voltmeter is wrongly connected.


https://dl.doubtnut.com/l/_hHcSb8MDmWf6

B. resistors are correctly connected but

ammeter is wrongly connected.

C.resistors as well as voltmeter are

wrongly connected.

D. resistors as well as ammeter are wrongly

connected.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hHcSb8MDmWf6

99. In the circuit given ahead, the resistors R;

and R, are connected

R,
R,
{2 | -
@O |
Circuit-1
H.
R, |



https://dl.doubtnut.com/l/_AuTo9jCEG9z7

A. in parallel in both circuits

B. in series in both circuits

C. in parallel in cirucit | and series in circit Il

D.in series in the circuit | and paralle in

circuit Il

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_AuTo9jCEG9z7

100. Identify the circuit in which the electrical

components have been propey conencted:

——
)
—C
& +
(i)
#RSE 2006-17,

B. (ii)

C. (i)


https://dl.doubtnut.com/l/_ptfbsGy9erfy

D. (iv)

Answer:

o Watch Video Solution

101. 4 students plotted the graph showing
dependence of current | on potential
difference V across using their recorded

observations. The most appropriate graph is


https://dl.doubtnut.com/l/_ptfbsGy9erfy
https://dl.doubtnut.com/l/_9A6free35KoE

" Y,
" R
vy



https://dl.doubtnut.com/l/_9A6free35KoE

Answer:

o Watch Video Solution

102. Define one watt hour.

o Watch Video Solution

103. A cylinder of a material is 10 cm long and
has a cross section of 2ecm?. If its resistance
along the length be 20 ohm, what will be its

resistivity in number and units?


https://dl.doubtnut.com/l/_9A6free35KoE
https://dl.doubtnut.com/l/_VvxYQguzZlte
https://dl.doubtnut.com/l/_8HnuMnqLzRxC

° Watch Video Solution

104. Explain the following : Why is the
tungsten used almost exclusively for filament

of electric lamps?

° Watch Video Solution

105. A resistance of 10 ohm is bent in the form

of a closed circle. What is the effective


https://dl.doubtnut.com/l/_8HnuMnqLzRxC
https://dl.doubtnut.com/l/_kkZfsTllQHAz
https://dl.doubtnut.com/l/_tGavPPN7AHV8

resistance between the two points at the ends

of any diameter of this circle?

° Watch Video Solution

106. Why is much less heat generated in long
electric cables than in filaments of electric

bulbs?

° Watch Video Solution



https://dl.doubtnut.com/l/_tGavPPN7AHV8
https://dl.doubtnut.com/l/_N7EpfkzujKAb

107. State which has a higher resistance a 50

W or a 25 w lamp bulb and how many times?

o Watch Video Solution

108. Pick out conductors and insulators from
the following
Metals, Glass, Rubber, Graphite, Dry wood, Dry

air?

o Watch Video Solution



https://dl.doubtnut.com/l/_flfBUBYbXqPj
https://dl.doubtnut.com/l/_qTr7IDwJKfHg
https://dl.doubtnut.com/l/_jYpVVGfsZXPF

109. Pick out conductors and insulators from
the following
Metals, Glass, Rubber, Graphite, Dry wood, Dry

air?

° Watch Video Solution

110. Pick out conductors and insulators from
the following
Metals, Glass, Rubber, Graphite, Dry wood, Dry

air?

o Watch Video Solution



https://dl.doubtnut.com/l/_jYpVVGfsZXPF
https://dl.doubtnut.com/l/_vwGdhOT8nKcd

111. Pick out conductors and insulators from
the following
Metals, Glass, Rubber, Graphite, Dry wood, Dry

air?

o Watch Video Solution

112. Pick out conductors and insulators from

the following


https://dl.doubtnut.com/l/_vwGdhOT8nKcd
https://dl.doubtnut.com/l/_aKAiiwJ4nUys
https://dl.doubtnut.com/l/_bcWqF4eOpm5N

Metals, Glass, Rubber, Graphite, Dry wood, Dry

air?

° Watch Video Solution

113. Pick out conductors and insulators from
the following
Metals, Glass, Rubber, Graphite, Dry wood, Dry

air?

o Watch Video Solution



https://dl.doubtnut.com/l/_bcWqF4eOpm5N
https://dl.doubtnut.com/l/_q76hx03eqchB

114. Name a source of emf.

o Watch Video Solution

115. What is Sl unit of electric potential?

o Watch Video Solution

116. What is meant by saying that the potential

difference between two points is 1V?

o Watch Video Solution



https://dl.doubtnut.com/l/_gdJowFIoZIeq
https://dl.doubtnut.com/l/_iE3UGnSbG9Hv
https://dl.doubtnut.com/l/_ESiodsm6APwn

117. you are given three resistors of 10 ohm 10
ohm and 20 Ohm a battery of EMF 2.5 volt one
key an ammeter a voltmeter. draw a circuit
diagram showing the correct connection of all
given components such that voltmeter
connected across the ends of 20 ohm resistor

give the reading of 2.0 volt.

o Watch Video Solution



https://dl.doubtnut.com/l/_ESiodsm6APwn
https://dl.doubtnut.com/l/_GDX8XUHEaSSJ

118. The electrical resistivity of few materials is
given below in ohm-metre. Which of the
following can be used for making element of a

heating device?

[L AL RPN Faper £
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B = ir®
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|." 7 b = T

Al e — S - | S ] - et ‘ll'l"'lf'l

o Watch Video Solution



https://dl.doubtnut.com/l/_UDGlJ5EoCaQp

119. An electric geyser has rating 2000W, 220V
marked on it. What should be the minimum
rating in whole number of a fuse wire, that

may be required for safe use with this geyser.?

o Watch Video Solution

120. Explain the following:How does the
resistance of a wire vary with its area of cross-

section?

o Watch Video Solution



https://dl.doubtnut.com/l/_u3TWyvjVcO4q
https://dl.doubtnut.com/l/_KTxmMVLKvdNW

121. Sl unit of current is:

° Watch Video Solution

122. A filament of an electric lamp draws a
circuit of 04 amperes. Which lights for 3
hours. calculate the amount of charge that

flows through the circuit ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KTxmMVLKvdNW
https://dl.doubtnut.com/l/_svG0GYkstjh0
https://dl.doubtnut.com/l/_FNlnB9kMlK3Y
https://dl.doubtnut.com/l/_5yJY219xjtRX

123. Name any one material having a small
value of temperature coefficient of resistance.

Write one use of this material.

o Watch Video Solution

124. An electric bulb draws a current of 0.2A
when the voltage is 220 volts then calculate
the amount of electric charge flowing through

it in one hour.

o Watch Video Solution



https://dl.doubtnut.com/l/_5yJY219xjtRX
https://dl.doubtnut.com/l/_zgqqoN6kz8jj
https://dl.doubtnut.com/l/_gYEL8J1Sabu0

125. On what factors does the resistance of a

conductor depend?

o Watch Video Solution

126. Will the current flow more easily through
a thick wire or a thin wire of the same material

when connected to the same source ? why?

o Watch Video Solution



https://dl.doubtnut.com/l/_gYEL8J1Sabu0
https://dl.doubtnut.com/l/_Aq8UhrXqidVl

127. Will the current flow more easily through
a thick wire or a thin wire of the same material

when connected to the same source ? why?

o Watch Video Solution

128. Draw schematic diagram of a circuit
consisting of a battery of three cells of 2 V
each a 5 resistor: am 8(2 resistor and 12()

resistor and a plug key, all connected in series?

o Watch Video Solution



https://dl.doubtnut.com/l/_zL6N6HrqWqVx
https://dl.doubtnut.com/l/_qDyoOSBzlOxT

129. While experimentally verifying ohm's law a
student observed that pointer of the
voltmeter coincide with 15th division when the
voltmeter has a least count of 0.05 V. Find the

observed reading of voltmeter?

o Watch Video Solution

130. How is a voltmeter connected in the
circuit to measure potential difference

between two points?


https://dl.doubtnut.com/l/_qDyoOSBzlOxT
https://dl.doubtnut.com/l/_T0nUMdBFCHFA
https://dl.doubtnut.com/l/_Kebu9ZC9O57T

° Watch Video Solution

131. How is ammeter always connected in

circuits?

o Watch Video Solution

132. A copper wire has diameter 0.5 mm, and
resistivity of 1.6 x 10~ %ohm — m. What will

be the length of this make its resistance


https://dl.doubtnut.com/l/_Kebu9ZC9O57T
https://dl.doubtnut.com/l/_Tld2BQd9RQlU
https://dl.doubtnut.com/l/_EgqEzlW6gNi5

100hm? How much does the resistance

change if the diameter is doubled.

° Watch Video Solution

133. An electric iron has a rating 750 W, 220V. It
is used for 5 hours daily. Calculate

its resistance while glowing?

° Watch Video Solution



https://dl.doubtnut.com/l/_EgqEzlW6gNi5
https://dl.doubtnut.com/l/_33tu2KP33IxT

134. An electric iron has a rating 750 W, 220V.
It is used for 5 hours daily. Calculate

its resistance while glowing?

o Watch Video Solution

135. Two students perform the experiments on
series and parallel combinatins of two given
resistors Ry and R, and plotted the following

V-l graphs:


https://dl.doubtnut.com/l/_fXU9sAFM3G2n
https://dl.doubtnut.com/l/_Uo1NbjqpsCEZ
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Which of the graph is correctly labelled in
term sof the words "series" and "paralle"?

justify your answer.

o Watch Video Solution

136. Find the equivalent resistance between A

and B in the following circuits:


https://dl.doubtnut.com/l/_Uo1NbjqpsCEZ
https://dl.doubtnut.com/l/_EF9tUpK5pFfQ

F=1
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o Watch Video Solution

137. Two metallic wires A and B of same
material are connected in parallel. Wire A has
length | and radius r and wire B has length 2I.

Calculate the ratio of the total resistance of


https://dl.doubtnut.com/l/_EF9tUpK5pFfQ
https://dl.doubtnut.com/l/_c86trx1fAedQ

parallel combination and the resistance of

wire A?

° Watch Video Solution

138. What is the meaning of the terms
frequency of an altrnating current? What is its
value in India? Why is an alternating current
considered to be advntageous over direct
current for long range transmission of electric

energy?

° Watch Video Solution



https://dl.doubtnut.com/l/_c86trx1fAedQ
https://dl.doubtnut.com/l/_LvuXvLqQS44t

139. Electrical resistivities of some substances

at 20° C are given below:

Salver 1.6= 10 *()-m
Copper 162 =10*[1-m
Tungsten 520« 107 [1-m
lron 100 = 107° [} - m
Meroury 940 =107"()-m
Michrome 100 = 10 L} - m

Among silver and copper, which one is a better

conductor? Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_LvuXvLqQS44t
https://dl.doubtnut.com/l/_8AvRwD5g37ow

140. Electrical resistivities of some substances

at 20° C are given below:

Salver 1.6= 10 ()-m
Copper 162 = 10" [1- m
Tungsten 520 = 10 [1-m
Tron 100 = 107 L) - m
Mercury 4.0« 107°()-m
Michrome 100 = 107 L} - m

Which material would you advise to be used in

electrical heating devices. Why?

o Watch Video Solution

141. What is electric circuit?



https://dl.doubtnut.com/l/_TbghFCL9FiAF
https://dl.doubtnut.com/l/_jt6Sys3E9qZV

[ o Watch Video Solution

142. Calculate the resistance of an electric bulb
which allows a 10 A current when connected to

a 220 V power sources?

o Watch Video Solution

143. A piece of wire having resistance R is cut

into four parts.


https://dl.doubtnut.com/l/_jt6Sys3E9qZV
https://dl.doubtnut.com/l/_va5kphvjI9u2
https://dl.doubtnut.com/l/_CVBvJSZc5eyT

How does the resistance of each part compare

with the original resistance?

° Watch Video Solution

144. A piece of wire having resistance R is cut
into four parts.
How does the resistance of each part compare

with the original resistance?

o Watch Video Solution



https://dl.doubtnut.com/l/_CVBvJSZc5eyT
https://dl.doubtnut.com/l/_e2xYmbiR3CPk

145. In an experimenal to study the
dependance of current on potential difference

across a resistor, a student obtained graph s

shown below:

04

I[A)

0l
Fu

16 20 30 40D
e ¥ vt

Calculate the value of resistance of the

resistor.

| oo


https://dl.doubtnut.com/l/_i6bxgV85u9BU

| & Watch Video Solution

146. Calculate the equivalent resistance
between the points A and B in the following

combinations.

e e esssasrslaml ek amese I'I' Il"lrl [

o Watch Video Solution

147. Calculate the equivalent resistance of the

network across the points A and B.


https://dl.doubtnut.com/l/_i6bxgV85u9BU
https://dl.doubtnut.com/l/_CiNrFeBG5Lih
https://dl.doubtnut.com/l/_NhntSoNQFkGC

o Watch Video Solution

148. When two resistors of resistance R; and
R, are connected in parallel, the net
resistance is 3 ohm. When connected in series.

Its values of 16 ohm. Calculate the value of R;

and RQ.



https://dl.doubtnut.com/l/_NhntSoNQFkGC
https://dl.doubtnut.com/l/_o1OEqlSXsuFa

I o Watch Video Solution

149. Three resistors are connected as shown.
Through a resistor of 5 ohm, a current of 1

ampere is flowing

. prmErE e = =

R,=1000 M
A t
I= 1amp R,= 5101 |
A : B =
ﬂ;l-1g!i L]

What is the potential differnce across AB?

° Watch Video Solution



https://dl.doubtnut.com/l/_o1OEqlSXsuFa
https://dl.doubtnut.com/l/_gSh9k7pyQ3F6

150. Three resistors are connected as shown.
Through a resistor of 5 ohm, a current of 1

ampere is flowing

. prmErE e = =

R,=1000 M

I= tamp R,= 5100 |

A : B c
n;,-.-1g!i I

What is the current through the two

resistors?

o Watch Video Solution



https://dl.doubtnut.com/l/_1PT3sZxZEMNz

151. Three resistors are connected as shown.
Through a resistor of 5 ohm, a current of 1

ampere is flowing

g prmErE e =

R,=1000 M

I = Tamp R, = 5100

A ; B c
n,r"1§:r N

What is the total resistance between A and C?

o Watch Video Solution

152. An electric bulb is rated 220V and 100 W.

what is its resistance? Five such bulbs burn for


https://dl.doubtnut.com/l/_Lz5wd7i5VRVU
https://dl.doubtnut.com/l/_RChtNnmT7NG5

4 hours. What is the electrical energy
consumed? Calculate the cost if the rate is 50

paise per unit.

o Watch Video Solution

153. State the formula correlating the electric
current flowing in a conductor and in voltage
applied across it also, show this relationship
by drawing a graph. What would be the

resistance of a conductor if the current


https://dl.doubtnut.com/l/_RChtNnmT7NG5
https://dl.doubtnut.com/l/_7UUuvKNv49yq

flowing throught it is 0.35 ampere when the

potential difference across it is 1.4 volt.

° Watch Video Solution

154. A torch bulb is rated 5 V and 500 mA.
Calculate

its power?

° Watch Video Solution



https://dl.doubtnut.com/l/_7UUuvKNv49yq
https://dl.doubtnut.com/l/_yalTyxTaUXkp

155. A torch bulb is rated 5 V and 500 mA.

Calculate

resistance?

o Watch Video Solution

156. A torch bulb is rated 5 V and 500 mA.
Calculate
energy consumed when it is lighted for 4

hours.

o Watch Video Solution



https://dl.doubtnut.com/l/_85hOD4f9q7hv
https://dl.doubtnut.com/l/_S5g0ENSfClPN

157. In the given circuit, calculate

10 02 2002

5 L2 25 ) i
i (o}

12V

the total effective resistance.

o Watch Video Solution



https://dl.doubtnut.com/l/_S5g0ENSfClPN
https://dl.doubtnut.com/l/_pxI0YdGJFXlD

158. In the given circuit, calculate

1082 2002

511 25 £1
__|r|-v—-—-—:-.'r—'
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the total current in the circuit.

° Watch Video Solution

159. Hoe can three resistors of resistance 2

ohm, 3 ohm and 5 ohm be connected to get a


https://dl.doubtnut.com/l/_5i8bw2rIYz4F
https://dl.doubtnut.com/l/_Cx7oC8B2a6Bw

total resistance of

3.875 ohm?

° Watch Video Solution

160. Hoe can three resistors of resistance 2
ohm, 3 ohm and 5 ohm be connected to get a
total resistance of

0.9 ohm?

o Watch Video Solution



https://dl.doubtnut.com/l/_Cx7oC8B2a6Bw
https://dl.doubtnut.com/l/_bT4v7kvvI3k6

161. Two lamps, one rated 100 W at 220 V and
other 60 W at 220V, are connected in parallel
to electric main supply. What current is drawn

from the line if the supply voltage is 220 V?

o Watch Video Solution

162. Write in the form of a formula a
relationship between resistance and resistivity
of an ohmic conductor. A wire of length 1" and

resistance ‘R’ is stretched so that it’s length is


https://dl.doubtnut.com/l/_oteJG5N1rvDY
https://dl.doubtnut.com/l/_BUgKsipjZ1dc

doubled and area of cross section is halved.
How will its

resistance change?

o Watch Video Solution

163. Write in the form of a formula a
relationship between resistance and resistivity
of an ohmic conductor. A wire of length ‘I’ and
resistance ‘R’ is stretched so that it’s length is
doubled and area of cross section is halved.

How will its


https://dl.doubtnut.com/l/_BUgKsipjZ1dc
https://dl.doubtnut.com/l/_2LLewXavW2Pb

resistivity change . Justify your answer in each

case.

° Watch Video Solution

164. What is meant by resistance of a
conductor?On what factors does the

resistance of conductor depends?

° Watch Video Solution



https://dl.doubtnut.com/l/_2LLewXavW2Pb
https://dl.doubtnut.com/l/_BJRmjNxyD1Cv

165. State Ohm's law and derive it from the

basic ideas of drift velocity of electrons.

° Watch Video Solution

166. Draw a schematic diagram of the circuit

for studying ohm's law.

o Watch Video Solution



https://dl.doubtnut.com/l/_Mh2oN8o5Fqhq
https://dl.doubtnut.com/l/_sXyN0BkkPcUy

167. Write an expression for the amount of
heat produced in a wire of resistance R and
carrying a current | for time. An electric heater
of resistance 10 ohm draws 15 A from the
service mains for 2 hours. Calculate

the heat developed in the heater?

o Watch Video Solution

168. Write an expression for the amount of

heat produced in a wire of resistance R and


https://dl.doubtnut.com/l/_OvRaKzhhg9z7
https://dl.doubtnut.com/l/_jm4lxkxgIxBQ

carrying a current | for time. An electric heater
of resistance 10 ohm draws 15 A from the
service mains for 2 hours. Calculate

the power of the heater.

o Watch Video Solution

169. State the relationship between the power
P, consumed by a device, its resistance R and
current I, flowing through it

An electric iron of resistance 20 ohm takes a


https://dl.doubtnut.com/l/_jm4lxkxgIxBQ
https://dl.doubtnut.com/l/_xIsDR5aLHOf4

current of 5A.Calculate

its electric power?

° Watch Video Solution

170. State the relationship between the power
P, consumed by a device, its resistance R and
current I, flowing through it

An electric iron of resistance 20 ohm takes a
current of 5A.Calculate

the heat generated by it in 30 seconds.

o Watch Video Solution



https://dl.doubtnut.com/l/_xIsDR5aLHOf4
https://dl.doubtnut.com/l/_vnvHMQbHzBVh

171. What determines the rate at which energy
is delivered by a electric current?An electric

motor takes 5A from a 220 V line. Calculate

o Watch Video Solution

172. An electric motor takes 5A form a 220 V
line. Determine the power of the motor and

the energy consumed in 2 hours

o Watch Video Solution



https://dl.doubtnut.com/l/_vnvHMQbHzBVh
https://dl.doubtnut.com/l/_W8KsDAx0fxh3
https://dl.doubtnut.com/l/_ROGtk5Rae9vR

173. An electric motor takes 5A from a 220 V
line. Calculate

the energy consumed by it in 30 seconds.

o Watch Video Solution

174. Define the term volt.

o Watch Video Solution



https://dl.doubtnut.com/l/_LslLvCVmlqqV
https://dl.doubtnut.com/l/_6hue1ELFZMWf

175. State the relation between work, charge
and potential difference for an electric circuit.
Calculate the potential difference between the
two terminals of a battery if 100 J of work is
required to transfer 20 C of charge from one

terminal of the battery to the other.

o Watch Video Solution

176. An electric circuit consisting of a 1 m long

metallic wire XY, an ammeter, a voltmeter, 4


https://dl.doubtnut.com/l/_3tN8G2t3u3K0
https://dl.doubtnut.com/l/_KhWj7RuKAz85

cells of 1.5V and a plug key was set up. Draw a
schematic diagram of this electric circuit on
the on positon. Following grpah was plotted
between the values of potential difference and
current. what conclusins do you draw about
the relation between V and | from this graph?

state this relations in your words.

B cEm e e e e e



https://dl.doubtnut.com/l/_KhWj7RuKAz85

I 0 Watch Video Solution I

177. Differenciate between electrical resistance

and resistivity of a conductor?

o Watch Video Solution

178. A  copper wire of resistivity
1.6 x 10 %ohm — m has a cross sectional
area of 20 x 10~ *em?. Calculate the length of

wire required to make a 10 ohm coil.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_KhWj7RuKAz85
https://dl.doubtnut.com/l/_zJJ4Bh7vuLlH
https://dl.doubtnut.com/l/_KL631bvs2cLv

179. State the funciton of a fuse in a circuit.

How is it connected in the domestic circuit?

o Watch Video Solution

180. An electric fuse of rating 3A is connected
in a circuit in which electric iron of powr 1 kW
is connected which operates at 220V. What

would happen?

° Watch Video Solution



https://dl.doubtnut.com/l/_KL631bvs2cLv
https://dl.doubtnut.com/l/_KL0shpxxPW7c
https://dl.doubtnut.com/l/_1R04rlJNets6

181. Three resistance Ri, Rs and R3 are
connected on parallel. Show that their

equivalent resistance Is

11,1 1
R R Ry, Rs

o Watch Video Solution

182. Express ohm's law by a mathematical

formula.

° Watch Video Solution



https://dl.doubtnut.com/l/_1R04rlJNets6
https://dl.doubtnut.com/l/_RPDP39vA7im8
https://dl.doubtnut.com/l/_a9hiFqAfgZvW

183. Write ohm's law. Draw a circuit diagram to

prove it experimentally in the laboratory?

o Watch Video Solution

184. Present the relationship between the
voltage applied across a conductor and the

current flowing through it graphically.

o Watch Video Solution



https://dl.doubtnut.com/l/_a9hiFqAfgZvW
https://dl.doubtnut.com/l/_ixWSRJgTrfu2
https://dl.doubtnut.com/l/_PZMPnGJ1Dsmk
https://dl.doubtnut.com/l/_wAGBAMxUbBjr

185. Find the equivalent of resistances of the

individual resistance connected in series?

° Watch Video Solution

186. Two wires X and Y are of equal length and
have equal resistance. If the resistivity of X is
more than that of Y which wire is thicker and
why?

For the electric circuit given below calculate


https://dl.doubtnut.com/l/_wAGBAMxUbBjr
https://dl.doubtnut.com/l/_CJxg2WAo4uMp

current in each resistor.
300

106k

B2

| ——
&V

o Watch Video Solution

187. Two wires X and Y are of equal length and
have equal resistance. If the resistivity of X is

more than that of Y which wire is thicker and


https://dl.doubtnut.com/l/_CJxg2WAo4uMp
https://dl.doubtnut.com/l/_Ts3O1h7FsCUh

why?
For the electric circuit given below calculate

Total current drawn from the battery.

30

1lllil—-—{'}'_
BV

o Watch Video Solution



https://dl.doubtnut.com/l/_Ts3O1h7FsCUh

188. Two wires X and Y are of equal length and
have equal resistance. If the resistivity of X is
more than that of Y which wire is thicker and
why?

For the electric circuit given below calculate

Equivalent resistance of the current.
3003

106k

B2

| ——

&Y

o Watch Video Solution



https://dl.doubtnut.com/l/_8GJIeMemBbke

189. State Ohm's law. Write the symbols used
in electric circuit to represent

variable resistance?

o Watch Video Solution

190. State Ohm's law. Write the symbols used
in electric circuit to represent

voltmeter?

o Watch Video Solution



https://dl.doubtnut.com/l/_8GJIeMemBbke
https://dl.doubtnut.com/l/_vq6fRQXwTVtp
https://dl.doubtnut.com/l/_Ks5oqIs9drIj

191. Two resistors of resistance 4 ohm and 12
ohm are connected
in parallel. Calculate the values of effective

resistance in each case.

o Watch Video Solution

192. Two resistors of resistance 4 ohm and 12

ohm are connected

in series. Calculate the values of effective

resistance in each case.


https://dl.doubtnut.com/l/_Ks5oqIs9drIj
https://dl.doubtnut.com/l/_lnoAOLnLf4sO
https://dl.doubtnut.com/l/_K0WMbGALGCo5

° Watch Video Solution

193. The electric powr consumed by a device

may be calculate by using either of the two

V2
expression P = I*’R or P = R The first

expression indicates that it is directly
proprotinal to R whereas the second
expression indicates inverse proportiionality.
How can the seemingly difference dependece

of Pon R in these expression be explained?

o Watch Video Solution



https://dl.doubtnut.com/l/_K0WMbGALGCo5
https://dl.doubtnut.com/l/_x6yjiDJvUXUo

194. Explain the following : Why is the
tungsten used almost exclusively for filament

of electric lamps?

o Watch Video Solution

195. Explain the following : Why are copper
and aluminium usually employed for electricity

transmission?

o Watch Video Solution



https://dl.doubtnut.com/l/_FMpqo1LhP04E
https://dl.doubtnut.com/l/_hHWgzkLOAv0z
https://dl.doubtnut.com/l/_RnY7VtqbDTuU

196. State ohm's law. Write the necessary
conditins for its validity. How is the law verified
experimentally? What will be the nature of
graph between V and | for a conductors?
Name the physical quantity which can be

determined by this grpah?

o Watch Video Solution

197. In a household electric circuit, different
appliances are connected in parallel to one

another. Give two reasons An electrician puts a


https://dl.doubtnut.com/l/_RnY7VtqbDTuU
https://dl.doubtnut.com/l/_XA37XErsfBsM

fuse of rating 5A in that part of domestic
electrical circuit in which an electrical heater
of rating 1.5 kW, 220V is operating. What is
likely to happen in this case and why? What

change, if any, needs to be made?

° Watch Video Solution

198. What is joule's heating effect? List
applications of joule's heating effect in our

daily life.

° Watch Video Solution



https://dl.doubtnut.com/l/_XA37XErsfBsM
https://dl.doubtnut.com/l/_ARvvZIzcqO64

199. What is meant by saying that the

potential difference between two points is 1V?

° Watch Video Solution

200. How much energy is given to 5 couolomb

of charge passing through a 12 V battery?

o Watch Video Solution



https://dl.doubtnut.com/l/_ARvvZIzcqO64
https://dl.doubtnut.com/l/_Q7RGbgHC9lQ6
https://dl.doubtnut.com/l/_CXvBwPIi5IVq

201. An electric heater coil if connected to a

230 V source if the resistance of the heater

coil is 220 ohm. Find the current.

o Watch Video Solution

202. On what factors does the resistance of a

conductor depend?

° Watch Video Solution



https://dl.doubtnut.com/l/_Gb3hpNyE1E4D
https://dl.doubtnut.com/l/_ctz2vWbK4YQb

203. Two resistos with resistance 5 ohm and 10
ohm respectively are to be connected to a
battery of emf 6V so as to obtain:

maxmum current

minimum current flowing

How will you connect the resistance in each

case.

o Watch Video Solution



https://dl.doubtnut.com/l/_12wamKGtfjt1

204. Two resistos with resistance 5 ohm and 10
ohm respectively are to be connected to a
battery of emf 6V so as to obtain:

maxmum current

minimum current flowing

Calculate the strength of the total current in

the circuit in the two cases.

o Watch Video Solution



https://dl.doubtnut.com/l/_bKc88d8IGCmp

205. A current of 1A flows on a wire for 5
minutes, find the amount of electric charge

that flows through the wire.

o Watch Video Solution

206. How much work is done in moving a
charge of 5C between two points in a circuit

having a potential difference of 10 V?

o Watch Video Solution



https://dl.doubtnut.com/l/_nvXuYMCzyjeU
https://dl.doubtnut.com/l/_JI4FciV9S9f8
https://dl.doubtnut.com/l/_SSlKbZebFVuI

207. An electric bulb is connected to a 220 V

source. If the resistance of the bulb filament is

1000 ohm. Find the current.

o Watch Video Solution

208. An electric heater coils is connect to a 220

V source. If the resistance of the heater coil is

220 ohm. Find the current.

o Watch Video Solution



https://dl.doubtnut.com/l/_SSlKbZebFVuI
https://dl.doubtnut.com/l/_1a7DckrB1OZz
https://dl.doubtnut.com/l/_luZO5BKRMT5i

209. Resistance of a metal wire of length 2 m is
40 ohm. If the diameter of the wire is 0.3 mm.
What will be the resistivity of the metal at that

temperature?

° Watch Video Solution

210. A 8 ohm resistance wire is stretched to
double its length. Calculate the new resistance

of the wire.

° Watch Video Solution



https://dl.doubtnut.com/l/_luZO5BKRMT5i
https://dl.doubtnut.com/l/_6922MrWFMCyQ
https://dl.doubtnut.com/l/_PeH4pg6j0pJD

211. A bulb whose resistance is 10 ohm s
connected to a 6 V battery. Calculate

the current through the circuit?

° Watch Video Solution

212. A bulb whose resistance is 10 ohm s
connected to a 6 V battery. Calculate

the potential difference across the bulb.

° Watch Video Solution



https://dl.doubtnut.com/l/_PeH4pg6j0pJD
https://dl.doubtnut.com/l/_b7Qp1MzwBq8Z
https://dl.doubtnut.com/l/_rNAdKPIg1uXZ

213. In the circuit diagram suppose the
resistors R;, Ry and R3 have the values of 5
ohm, 10 ohm and 30 ohm respectively. Which

have been connected to a battery of 12 V.
o b

7 R.- 1:;\

T 7

: r WA,

i | JEX
I

Calculate the current through each resistor?

o Watch Video Solution



https://dl.doubtnut.com/l/_rNAdKPIg1uXZ

214. In the circuit diagram suppose the
resistors R, Ry and R3 have the values of 5
ohm, 10 ohm and 30 ohm respectively. Which

have been connected to a battery of 12 V.

K, '- LL'

ﬂ -1--1:-

L i.l'-’ X

the total current in the circuit?

° Watch Video Solution



https://dl.doubtnut.com/l/_ttmbueXRXmXZ
https://dl.doubtnut.com/l/_2379X9fvApb9

215. In the circuit diagram suppose the
resistors Ri, Rs and R3 have the values of 5
ohm, 10 ohm and 30 ohm respectively. Which

have been connected to a battery of 12 V.

K, '- LL'

ﬂ —1--n

i ALY
|

the total circuit resistance.

o Watch Video Solution



https://dl.doubtnut.com/l/_2379X9fvApb9

216. In the given figure R; = 50hm,
Ry = 200hm, Rs; = 10ohm, R, = 200hm
and a 10 V battery is connected to the
arangement. Calculate

the total resistance in the circit?

[ 50 100
."*I'lﬁ'.-—H\“ f'-ql'.lh-'. -
i
"‘1-"' ._.-"-,..-'l
8] 200
L = -
Mov

° Watch Video Solution



https://dl.doubtnut.com/l/_4ExRd8wS1O5t

217. In the given figure R; = 50hm,
Ry = 200hm, Rs; = 10ohm, R, = 200hm
and a 10 V battery is connected to the
arangement. Calculate

the total current flowing in the circuit.

Il'l'.!

"-'I'III } "'Clﬂ

° Watch Video Solution



https://dl.doubtnut.com/l/_42oMsYoucVZ2

218. The energy spent by an electric device is
at a rate of 1000 W when heating is at the
maximum rate and 300 W when heating is
minimum. The voltage is 200 V. What are the

current and the resistance in each case?

o Watch Video Solution

219. 500 ) of energy is produced each second
in @ 20 ohm bulb. Find the potential differecne

across the bulb.

| & I


https://dl.doubtnut.com/l/_hZ5aixRHjRVG
https://dl.doubtnut.com/l/_vmGRbGRTuGmg

| ¥ Watch Video Solution |

220. An electric bulb is connected to a 220 V
source. The current flowing is 0.25 A. what is

the power of the bulb?

o Watch Video Solution

221. An electric refrigerator rated 500 W
operates 24 hours/day. What is the cost of the

energy to operate it for 20 days at Rs.2.00 per

kWh?


https://dl.doubtnut.com/l/_vmGRbGRTuGmg
https://dl.doubtnut.com/l/_itdcluSOG0TY
https://dl.doubtnut.com/l/_ioCZp5rs5oJt

° Watch Video Solution

222. With the help of given diagram answer
the following:

what will be the current shown by the
ammeter and the potential difference between

pointSand T

il F 4 4
el e e
M L]

P
‘ g A= 5[] . 3
-—"-l'-"-'ln"-'.—-r—-|Eh—-'-|-'-—-
T { |



https://dl.doubtnut.com/l/_ioCZp5rs5oJt
https://dl.doubtnut.com/l/_Rr8yEtpJUXoc

when

P is conencted to Q?

° Watch Video Solution

223. With the help of given diagram answer
the following:

what will be the current shown by the
ammeter and the potential difference between

pointSand T


https://dl.doubtnut.com/l/_Rr8yEtpJUXoc
https://dl.doubtnut.com/l/_0U5ZUTTNTXVe

i Fa B
el il il il

] L]
F¥ -
g A= 50 . 3
ST YT ¥ E— -
-

P is connected to M?

o Watch Video Solution

224. With the help of given diagram answer
the following:
what will be the current shown by the

ammeter and the potential difference between


https://dl.doubtnut.com/l/_0U5ZUTTNTXVe
https://dl.doubtnut.com/l/_2PifAne1qvIP

pointSand T

. AT
| M rA .
F

A= 50

S

P is connected to N?

o Watch Video Solution



https://dl.doubtnut.com/l/_2PifAne1qvIP
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find the resistance between A and B.

o Watch Video Solution

226. What is the differenc between

following electrical circuits?

the


https://dl.doubtnut.com/l/_LKF1jWb2cCOS
https://dl.doubtnut.com/l/_E3sKv6bQA1pY

o B, R

'™
T
1
| L
T
o
i

di H
1l =
A, ]
-
F

i |

]

o Watch Video Solution

227. An electic room heater is rated at 2 kw.
Calculate the cost of using it for 2 hours daily
for the month of september, if each unit costs

Rs. 4.00


https://dl.doubtnut.com/l/_E3sKv6bQA1pY
https://dl.doubtnut.com/l/_6USxZCUbl9wB

° Watch Video Solution

228. A cell, a resistor, a key and ammenter are
arranged as shown in the circuit diagram. The

current recorded in the ammeter will be
l—? —(a¢ r =W Y 1 Faﬁw—t}ﬁ—' -
<K
K5 1
[ e @ @,_:\

A. maximum in (i)

B. minimum in (ii)

C. maximum in (iii)


https://dl.doubtnut.com/l/_6USxZCUbl9wB
https://dl.doubtnut.com/l/_O5PCP0bzEUun

D. the same in all the cases

Answer:

o Watch Video Solution

229. In the following circits, heat produced in

the resistor or combinations of resistors

conencted to a 12 V battery will be

IS


https://dl.doubtnut.com/l/_O5PCP0bzEUun
https://dl.doubtnut.com/l/_OVSAojhT9n8H

A.same in all the cases

B. minimum in case (i)

C. maximum in case (ii)

D. maximum in case (iii)

Answer:

o Watch Video Solution

230. Electical resistivity of a given metallic wire

depends upon


https://dl.doubtnut.com/l/_OVSAojhT9n8H
https://dl.doubtnut.com/l/_rE62AF73CAZQ

A. its length

B. its thickness

C. its shape

D. nature of the material.

Answer:

o Watch Video Solution

231. A current 1 A is drawn by a filament of an

electric bulb. Number of electrons passing


https://dl.doubtnut.com/l/_rE62AF73CAZQ
https://dl.doubtnut.com/l/_I1IAvT3CLBZ9

through a cross section of the filament in 16

seconds would be roughly

A. 10%°

B. 10'6

c.10"

D. 10%

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_I1IAvT3CLBZ9

232. |dentity the circuit in which the electrical

components have been properly connected.

r | -
J F ‘i e
[v]) « ; (&)
£ \ [P "
e T e (%‘I
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—i— ‘ q —l—
:"';_] e ) l} . .'.‘
'S () Li “:,:.} érﬁ -
LI |7

A. (i)

B. (I1)

C. (i)


https://dl.doubtnut.com/l/_4MFgZIhheU8H

D. (iv)

Answer:

o Watch Video Solution

233. What is the maximum resistance which

can be made using five resistors each of 1/5

ohm

A.1/5 ohm

B. 10 ohm


https://dl.doubtnut.com/l/_4MFgZIhheU8H
https://dl.doubtnut.com/l/_M7LQ6h3W5Mp8

C.5o0hm

D.1ohm

Answer:

O Watch Video Solution

234. What is the minimum resistance which

can be made using five resistros each of 1/5?

A.1/5 ohm

B.1/25 ohm


https://dl.doubtnut.com/l/_M7LQ6h3W5Mp8
https://dl.doubtnut.com/l/_3ZDMbLV7jQQL

C.1/10 ohm

D. 25 ohm

Answer:

° Watch Video Solution

235. The proper representation of series

combination of cells obtaining maximum


https://dl.doubtnut.com/l/_3ZDMbLV7jQQL
https://dl.doubtnut.com/l/_3KYoB62f55LU

potential is

—HHHE~ il
i1 (17}

—HHHE U

{an) {ir)

B. (ii)

C. (i)

D. (iv)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3KYoB62f55LU

236. Which of the following represents

voltage?

A. (Workdone) / (current x time)
B. Work done x Charge
C. (Work done x Time)/(Current)

D. Work done X charge X time

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_aDjFQPXMPvEw
https://dl.doubtnut.com/l/_E91UTYqi6Utz

237. A cylindrical conductor of length | and

uniform are of cross section A has resistance

R. Another conductor of length 2| and

resistance R of the same material has area of

cross section.

A.A/2

B.3A/2

C.2A

D. 3A

Answer:



https://dl.doubtnut.com/l/_E91UTYqi6Utz

| ¥ Watch Video Solution ]

238. A student carries out an experiment and
plots of V-l graph of three samples of
nichrome wire was resistance R;, Ry and R4

respectively. Which of the following is true?

[ampere)

L :'. |_||| o] |


https://dl.doubtnut.com/l/_E91UTYqi6Utz
https://dl.doubtnut.com/l/_8Wdtn43YrSQr

AR, =R, = Ry

B.Ry > Ry > Rj

C.Rs; > Ry > R,

D.Ry > R, > Rj5

Answer:

o Watch Video Solution

239. If the current | through a resistros is
increase by 100% the increase in powr

dissipated will be


https://dl.doubtnut.com/l/_8Wdtn43YrSQr
https://dl.doubtnut.com/l/_zsVeaMlsPMT7

Al

B.2

C.3

D. 4

Answer:

o Watch Video Solution

240. The resistivtiy does not change if

A. the material is changed


https://dl.doubtnut.com/l/_zsVeaMlsPMT7
https://dl.doubtnut.com/l/_tBCKQ7yVDsDS

B. the temperature is changed

C. the shape of the resistor is changed

D.both material and temperature are

changed

Answer:

o Watch Video Solution

241. In an electrical circuit three incandescent
bulbs A, B and C of rating 40 W, 60 W and 100

W respectively are connected in parallel to an


https://dl.doubtnut.com/l/_tBCKQ7yVDsDS
https://dl.doubtnut.com/l/_fSz9feOqwOWD

electric source. Which of the following is likely

to happen regarding their brightness?

A.Brightness of all the bulbs will be the

same

B. Brightness of bulb A will be the

maximum

C. Brightness of bulb B will be more than

that of A

D. Brightness of bulb C will the less than

that of B.


https://dl.doubtnut.com/l/_fSz9feOqwOWD

Answer:

o Watch Video Solution

242. In an electrical circuit two resistors of 2

ohm and 4 ohm espectively are connected in

series to a 6 V battery. The heat dissipated by

the 4 ohm resistor in 5 s will be

A 5]

B.10 ]

C.20])


https://dl.doubtnut.com/l/_fSz9feOqwOWD
https://dl.doubtnut.com/l/_oSvvL1YQ8UHC

D.30]

Answer:

° Watch Video Solution

243. An electric kettle consumes 1kW of electic

power when operated at 220 V. A fuse wire of

the what rating must be used for it?

A 1A

B. 2A


https://dl.doubtnut.com/l/_oSvvL1YQ8UHC
https://dl.doubtnut.com/l/_ZAVkoaPC21Gc

C.4A

D. 5A

Answer:

o Watch Video Solution

244. Two resistors of resistance 2 ohm and 4

ohm when connected to a battery will have

A.same current flowing through them

when connected in paralleld


https://dl.doubtnut.com/l/_ZAVkoaPC21Gc
https://dl.doubtnut.com/l/_yDv90K6wAFhz

B.same current flowing through them

when connected in series

C.same potentil difference across them

when connected in series

D. different potential difference across

them when connected in parallel.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yDv90K6wAFhz

245. Unit of electric power may also be

expressed as

A. volt ampere

B. kilowatt hour

C. watt second

D. joule second

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_231kkyvz3uyx
https://dl.doubtnut.com/l/_zBFAk5txhaVh

246. In the circuit given below what will be the
ratio of current flowing in the upper arm 'R’

and lower arm 'R.

[+
oA
———f e i ]
N B 6
o
H g™
il B
I—.|"|'FI
(-
?

A2/3
B.5/3

C.3/2


https://dl.doubtnut.com/l/_zBFAk5txhaVh

D.1/5

Answer:

o Watch Video Solution

247. What will be the equivalent resistance

between point A and B in the given circuit.


https://dl.doubtnut.com/l/_zBFAk5txhaVh
https://dl.doubtnut.com/l/_jStXtievyP3r

A. (5/3)R

B. 2R

C.(8/3)R

D. 3R


https://dl.doubtnut.com/l/_jStXtievyP3r

Answer:

o Watch Video Solution

248. The numbre of electrons that travel

through the given resistor 20 ohm in the


https://dl.doubtnut.com/l/_jStXtievyP3r
https://dl.doubtnut.com/l/_ZGhyB3QWjOKW

circuit in one second is

Wtrons)
2060 2040

1Y

A 18.75 x 10'8
B.18.75 x 10"
C.1.875 x 10"

D.1.875 x 10%3


https://dl.doubtnut.com/l/_ZGhyB3QWjOKW

Answer:

o Watch Video Solution

249. The resistance of the given resistor that is
calculate from the graph is

v (Wolth &
.

| pml


https://dl.doubtnut.com/l/_ZGhyB3QWjOKW
https://dl.doubtnut.com/l/_iEqdJawULNqu

A. lohm

B. 10ohm

C. 1000hm

D. 1000o0hm

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_iEqdJawULNqu

250. The voltage across 8 ohm resistance is

s 0
& Lr
e
40 ¥
A .42V
B.32V

C.22V


https://dl.doubtnut.com/l/_wiMWNDzUDI2A

D.20V

Answer:

° Watch Video Solution

251. A student carries out an experiment and
plots of V- graph of three samples of

nichrome wire was resistance Ry, Ry and R4


https://dl.doubtnut.com/l/_wiMWNDzUDI2A
https://dl.doubtnut.com/l/_as420iP7WykQ

respectively. Which of the following is true?

-
| f
|
|

I I'I1'|_'||'!'||' I

A.Ri1 = Ry = R3

B.R1 > Rs > Rj3

C.Rs > Ry > R;

D.Rs > R1 > Rj3


https://dl.doubtnut.com/l/_as420iP7WykQ

Answer:

o Watch Video Solution

252. While doing their experiment on finding
the equivalent resistance of two resistors
connected in series. The student AB and C set

up their circuits as shown. The correct set up

is that of:



https://dl.doubtnut.com/l/_as420iP7WykQ
https://dl.doubtnut.com/l/_acYCFgjuoCoF

A. Students A and B

B. Students B and C

C.Students Cand A

D. All the three students.

Answer:

o Watch Video Solution

253, Fill ups

The resistance of a conductor depends


https://dl.doubtnut.com/l/_acYCFgjuoCoF
https://dl.doubtnut.com/l/_hqQbqE1qRkP0

A.only on potential diference across the

ends of the conductor

B.only on current flowing through the

conductor

C.on both (1) and (2)

D. Neither on (1) nor on (2)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hqQbqE1qRkP0

254. An ammeter has 10 divisions between
mark O and mark 2 on its scale. Which of the

following reading the ammeter cannot read

A.02 A
B.1.0A
C.1.8A

D.19A

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_exfdlH7U8Stc

255. The reading of ideal voltmeter V

connected across R and the circuit shown is

| « O0&

A 1V


https://dl.doubtnut.com/l/_M49Bi6VSGfd8

B.2V

C.3V

D.4V

Answer:

o Watch Video Solution

256. The value of equivalent resistance

between the points A and B in the given circuit


https://dl.doubtnut.com/l/_M49Bi6VSGfd8
https://dl.doubtnut.com/l/_b0OC8zI1HDaA

will be

R S e T e


https://dl.doubtnut.com/l/_b0OC8zI1HDaA

Answer:

o Watch Video Solution

257. What is the equivalent resistance between

any two vertex of a triangle if the sides of the

triagnle are of equal resistance

A. 3R

B. 2R

C.R


https://dl.doubtnut.com/l/_b0OC8zI1HDaA
https://dl.doubtnut.com/l/_lXVYJq7i5lW6

Answer:

o Watch Video Solution

258. Two lamps A rated 100 watt 220 V and B

rated 60 watt 220 V are connected in series to

electric main supply of 220 V. the ratio of heat

produced in lamp A to the lamp B would be
A.3:5

B.5:3

C.4:5


https://dl.doubtnut.com/l/_lXVYJq7i5lW6
https://dl.doubtnut.com/l/_KJNkqPI2W5Ki

D.5:4

Answer:

o Watch Video Solution

259. A bulb(220 V, 60 W) is operated on 110V

supply then power developed in its is

A 15W

B.30W

C.65W


https://dl.doubtnut.com/l/_KJNkqPI2W5Ki
https://dl.doubtnut.com/l/_qxhyLaJiMBCO

D.60 W

Answer:

o Watch Video Solution

260. If the ammeter in the given circuit reads

2A, the resistance R is

2Q) R



https://dl.doubtnut.com/l/_qxhyLaJiMBCO
https://dl.doubtnut.com/l/_AsfrMkgTkDqG

A. lohm

B. 20hm

C. 3ohm

D. 40hm

Answer:

o Watch Video Solution

261. An electric bulb marked 40W-200 V is used
in a circuit of supply voltage 100V. Now its

power is


https://dl.doubtnut.com/l/_AsfrMkgTkDqG
https://dl.doubtnut.com/l/_ixMqBah0sYH9

A. 100 W

B.40 W

C.20W

D.10 W

Answer:

o Watch Video Solution

262. If two identical heaters each rated as 1000
W. 220V are connected in parallel to 220 V,

then the total power consumed as


https://dl.doubtnut.com/l/_ixMqBah0sYH9
https://dl.doubtnut.com/l/_XSz7O0WLWRiM

A.200 W

B.2500 W

C.250 W

D. 2000 W

Answer:

o Watch Video Solution

263. What is the maximum resistance which
can be made using five resistors each of 1/5

ohm


https://dl.doubtnut.com/l/_XSz7O0WLWRiM
https://dl.doubtnut.com/l/_gj4qz7OZAIPQ

A L h
. 50 m
B. 10ohm

C. 50hm

D. lohm

Answer:

o Watch Video Solution

264. A cylindrical conductor of length | and
uniform are of cross section A has resistance

R. Another conductor of length 2| and


https://dl.doubtnut.com/l/_gj4qz7OZAIPQ
https://dl.doubtnut.com/l/_R8ZFYVyCakTV

resistance R of the same material has area of

cross section.

C.2A

D.3A

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_R8ZFYVyCakTV

265. The resistivtiy does not change if

A. the material is changed

B. the temperature is changed

C. the shape of the resistor is changed

D.both material and temperature are

changed

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_j4jsyzYsVOgz
https://dl.doubtnut.com/l/_dsrgCbi3socp

266. In an electrical circuit two resistors of 2

ohm and 4 ohm espectively are connected in

series to a 6 V battery. The heat dissipated by

the 4 ohm resistor in 5 s will be

A 5]

B.10 ]

C.20])

D.30]

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dsrgCbi3socp

267. A number of cells when connected in

series from

A. A generator

B. an invertor

C. a battery

D. a battery eliminator

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dsrgCbi3socp
https://dl.doubtnut.com/l/_HmAcsjRXhbwu

268. In a voltmeter there are 20 divisin

between the 0 mark and 0.5 V mark. The least

count of the voltmeter is

A. 0.020V

B.0.025V

C.0.050V

D. 0.250V

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5vhpIxePGHLZ

269. Which of the following statements does

not represent ohm's law?

A. current/potential difference=constant

B. potential difference /current=constant

C. potential difference  =current  x
resistance
D.current=  resistance = x  potential
difference
Answer:



https://dl.doubtnut.com/l/_LiQWAMLwkUhv

I 0 Watch Video Solution I

270. True or false

The resistance of ammeteer is very high.

o Watch Video Solution

271. True or false

In a circuit resistance is doubled the current

to half.

o Watch Video Solution



https://dl.doubtnut.com/l/_LiQWAMLwkUhv
https://dl.doubtnut.com/l/_pyfgwc8Y4Hxm
https://dl.doubtnut.com/l/_XJ2uskQDOHBG

272. True or false
Germanium is a substance whose resistance

decreases with temperature.

o Watch Video Solution

273.True or false
A bird perched on a high voltage wire is killed

by the current.

o Watch Video Solution



https://dl.doubtnut.com/l/_ItSAK25FhZYU
https://dl.doubtnut.com/l/_Hrmc2baYGjLQ
https://dl.doubtnut.com/l/_Zidd9Y9yi8U0

274.True or false

Volt is represented by joule/coulomb.

o Watch Video Solution

275. Fill ups
Among silver and copper..... is a better

conductor.

o Watch Video Solution



https://dl.doubtnut.com/l/_Zidd9Y9yi8U0
https://dl.doubtnut.com/l/_ofMmmO2ZqP6j

276. Resistance of a conductor depends on:

o Watch Video Solution

277. Fill ups
The current through a lamp of 25 W operating

at 200 V is...e... .

o Watch Video Solution



https://dl.doubtnut.com/l/_LgXCby8780Mf
https://dl.doubtnut.com/l/_4Vz2AoFbGRGX

278. Fill ups
Lead tin alloy is used for making fuse because

it has........ melting point.

o Watch Video Solution

279. Fill ups
Nicrhome is used for making element because

it has..e... melting point.

o Watch Video Solution



https://dl.doubtnut.com/l/_uXOlIG5IFd9s
https://dl.doubtnut.com/l/_LUKSXeLRIoIp
https://dl.doubtnut.com/l/_HVtHqNiy914W

280. What is the current flowing in the given

electric circuit?

o Watch Video Solution

281. A wire of resistivity p is stretched to

double its length. Then its new resistivity will:

l ° Watch Video Solution


https://dl.doubtnut.com/l/_HVtHqNiy914W
https://dl.doubtnut.com/l/_yngu2Um5XyPy

282. How many electrons make 10C of charge?

° Watch Video Solution

283. Three 60 W incandescent buolbs are
connected in a parallel.

Calculate the total power consumed.

° Watch Video Solution



https://dl.doubtnut.com/l/_yngu2Um5XyPy
https://dl.doubtnut.com/l/_dfVSjo0cb7Ll
https://dl.doubtnut.com/l/_DhiRA0cM3iMc

284. Three 60 W incandescent buolbs are
connected in a parallel.

Now suppose that can one of the bulbs is
fused what will be the total power consumed

now?

o Watch Video Solution

285. In an electrical circuit three incandescent
bulbs A, B and C of rating 40 W, 60 W and 100

W respectively are connected in parallel to an


https://dl.doubtnut.com/l/_rjKt74q2e0T6
https://dl.doubtnut.com/l/_TnNamUyprCg9

electric source. Which of the following is likely

to happen regarding their brightness?

° Watch Video Solution

286. In an electrical circuit three incandescent
bulbs A, B and C of rating 40 W, 60 W and 100
W respectively are connected in parallel to an
electric source. Which of the following is likely

to happen regarding their brightness?

° Watch Video Solution



https://dl.doubtnut.com/l/_TnNamUyprCg9
https://dl.doubtnut.com/l/_SNXtKTfNwczl
https://dl.doubtnut.com/l/_50Zi1pTUnxcR

287. In an electrical circuit three incandescent
bulbs A, B and C of rating 40 W, 60 W and 100
W respectively are connected in parallel to an
electric source. Which of the following is likely

to happen regarding their brightness?

O Watch Video Solution

288. A child has drawn the electric circuit to
study Ohm's law as shown in figure. His
teacher told that the circuit diagram needs

correction. Study the circuit diagram and


https://dl.doubtnut.com/l/_50Zi1pTUnxcR
https://dl.doubtnut.com/l/_wffYF1mE2zH7

redrqw it after making all corrections.

Al
! |

L

¥ Y V)
Lg-)

o Watch Video Solution

289. Three 2ohm resistance A, B and C are
connected as shown in figure. Each of them

disipates energy and can withstand a


https://dl.doubtnut.com/l/_wffYF1mE2zH7
https://dl.doubtnut.com/l/_nAlRbTh3h5kL

maximum powr of 18W without melting. Find
the maximum current that can flow through

the three resistors.

pi 1
241 I

!

Hi
L

o Watch Video Solution

290. Find

total resistance?


https://dl.doubtnut.com/l/_nAlRbTh3h5kL
https://dl.doubtnut.com/l/_GdZmIqPtG6Jf

R«500 p H=100
dpr i

B = 100 R,=G60

14 D

%

———
2V

° Watch Video Solution

291. Find

the total current drawn from the battery?


https://dl.doubtnut.com/l/_GdZmIqPtG6Jf
https://dl.doubtnut.com/l/_tThUQu8ZqFkq

R«500 p H=100
dpr i

B = 100 R,=G60

14 D

%

———
2V

° Watch Video Solution

292. Find

potential difference between B and C?


https://dl.doubtnut.com/l/_tThUQu8ZqFkq
https://dl.doubtnut.com/l/_smhpeV45qwYY

R=50 p K=10U
I ERT e — gl

JI.T R,= 104 R=060 |C |
L ¥ 3 A |
& i

° Watch Video Solution

293. Two resistos with resistance 5 ohm and 10

ohm respectively are to be connected to a
battery of emf 6V so as to obtain:
maxmum current

minimum current flowing


https://dl.doubtnut.com/l/_smhpeV45qwYY
https://dl.doubtnut.com/l/_Audlt1NKchTz

How will you connect the resistance in each

case.

° Watch Video Solution

294. Two resistos with resistance 5 ohm and 10
ohm respectively are to be connected to a
battery of emf 6V so as to obtain:

maxmum current

minimum current flowing

Calculate the strength of the total current in

the circuit in the two cases.

| e |


https://dl.doubtnut.com/l/_Audlt1NKchTz
https://dl.doubtnut.com/l/_YJ75swGoG8LZ

& Watch Video Solution I

295. An electric lamp of 200 ohm and a toaster
of 100 ohm are connected in parallel to a 220
V electricity source.

What will be resistance of an electric iron
which when connected to the same electric
source permits the same current as the total
current flowing through both the appliances

described above?

° Watch Video Solution



https://dl.doubtnut.com/l/_YJ75swGoG8LZ
https://dl.doubtnut.com/l/_G6G1R6tXtg5T
https://dl.doubtnut.com/l/_XuuAPGXHSZXv

296. An electric lamp of 200 ohm and a toaster
of 100 ohm are connected in parallel to a 220
V electricity source.

What is the current passing through the

electric iron?

o Watch Video Solution

297. An electric lamp of 200 ohm and a toaster
of 100 ohm are connected in parallel to a 220
V electricity source.

Calculate the powre of the electric iron.


https://dl.doubtnut.com/l/_XuuAPGXHSZXv
https://dl.doubtnut.com/l/_qGQZsWRpYAwp

° Watch Video Solution

298. Draw diagram to show series and parallel
combination resistors. State three salient

featurs each of both the combinations.

° Watch Video Solution

299. The statement that is most correct about

the readings of ammeters A;,A5 and A;


https://dl.doubtnut.com/l/_qGQZsWRpYAwp
https://dl.doubtnut.com/l/_Y5pATBBj4Vov
https://dl.doubtnut.com/l/_mQvzlpgT47Fn

connected in the flowing circuit

AL < I

B.I3 < I

C.ILh < I3

D.I1 = I

Answer: [ = I3

o Watch Video Solution



https://dl.doubtnut.com/l/_mQvzlpgT47Fn
https://dl.doubtnut.com/l/_FSCNDdYOEUGg

300. Equivalent resistance of three resistros

each of resistance of 2 ohm connected in

series as determined experimentally should

her

A.4 ohm

B.6 ohm

C.9 ohm

D.2 ohm

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FSCNDdYOEUGg

301. Four students plot graphs between V and
|, showing dependence of current | on
potential difference V across a resistor, as

shown

The correct graph is

Al

B. Il

C. 1


https://dl.doubtnut.com/l/_FSCNDdYOEUGg
https://dl.doubtnut.com/l/_LLqjrKhxyG4n

D. IV

Answer:

° Watch Video Solution

302. In the circuit given below, on plugging the
key, the voltmeter reads 2.0 V but ammeter

reads 0.6A. The resistance of the combination


https://dl.doubtnut.com/l/_LLqjrKhxyG4n
https://dl.doubtnut.com/l/_roIYpRBAI9dI

R =5
,—-l.-.-.'-.-.u.-m.-.-.-".-.'.'l.-,. i
lll

FL Lo

.-—-! S—ET J.:.-.-..-.-..-.*.-.-.-.J.-._'I-_.

A. 1.2 ohm

B.3.3 ohm

C.3.0 ohm

D. 1.5 ohm

Answer:



https://dl.doubtnut.com/l/_roIYpRBAI9dI

| & Watch Video Solution ]

303. In an experiment to find the equivalent
resistnce of two resistors connected in series,

four circuits were set up as shown

"‘l:'r"' )

2/ J 1

. |
E K | R R
A e a4

l, A w I | . -_-__,-_»,_‘
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| J -_ o LE L | . :_JI- _,]. | 3
' | *]
I | —{1|— o) -
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The voltmeter has been correctly connected in

the arrangement


https://dl.doubtnut.com/l/_roIYpRBAI9dI
https://dl.doubtnut.com/l/_eoFgMFj3aXF0

Al

B. Il

C. 1

D. IV

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eoFgMFj3aXF0

